
CHEMISTRY

BOOKS - VK JAISWAL ENGLISH

d-BLOCK ELEMENTS

Level 1

1.  The pH values of (X) and (Y) are respectively

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

CrO2 −
4

pH =X
⇐====⇒

pH =Y
Cr2O

− 2
7

6, 8

6, 5

8, 6

7, 7

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_U2c2pn7UnHyA


Watch Video Solution

2. Manganese ions  can be oxidised by Persulphate ions 

according to the following half-equations, 

 


 


How many moles of  are required to oxidise 1mole of ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(Mn2 + ) S2O
2 −
8

S2O
2 −
8

+ 2e− → 2SO2 −
4

Mn2 + + 4H2O → MnO−
4

+ 4H2O → MnO−
4

+ 8H + + 5e−

S2O
2 −
8

Mn2 +

2.5

2.0

11.0

0.4

3. AgCl on fusion with sodium carbonate, gives :

https://dl.doubtnut.com/l/_U2c2pn7UnHyA
https://dl.doubtnut.com/l/_unqbAzRHsyVH
https://dl.doubtnut.com/l/_XWJUqyGbGcAZ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ag2CO3

Ag2O

Ag

Ag2C2

4. Write the chemical formula of rust.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Fe2O3

FeO ⋅ xH2O

Fe2O3 ⋅ xH2O

Fe3O4 ⋅ xH2O

https://dl.doubtnut.com/l/_XWJUqyGbGcAZ
https://dl.doubtnut.com/l/_TP13iGKGs6Ng


5.  dissolves in aqueous NaOH to give:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CrO3

Cr2O
2 −
7

CrO
2 −
4

Cr(OH)3

Cr(OH)2

6. Chemically philosopher of wool is

A. 

B. 

C. 

ZnO

BaO

HgCl

https://dl.doubtnut.com/l/_TP13iGKGs6Ng
https://dl.doubtnut.com/l/_9J81sQBSPDzv
https://dl.doubtnut.com/l/_q0EPWjC690sg


D. 

Answer: A

Watch Video Solution

Hg2Cl2

7. Boiling  with Cu in conc. HCl gives:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CuCl2

CuCl

CuCl2

H[CuCl2]

Cu2Cl

8. Thermal decomposition of zinc nitrate give:

https://dl.doubtnut.com/l/_q0EPWjC690sg
https://dl.doubtnut.com/l/_wLpuIkwSiAVq
https://dl.doubtnut.com/l/_CNEVdzj7LphX


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Zn

ZnO

Zn(NO3)2

NO

9. Malachite and azurite are used respectively are:

A. Blue and green pigment

B. Red and green pigment

C. Green and blue pigment

D. Green and red pigment

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CNEVdzj7LphX
https://dl.doubtnut.com/l/_QVtQoYbt7HIT


10. Mercury containers are made of

A. Ag

B. Pb

C. Al

D. Fe

Answer: D

Watch Video Solution

11. The higher oxidation states of transition elements are found to be in

the combination with A and B, which are:

A. F, O

B. O, N

C. O, S

https://dl.doubtnut.com/l/_QVtQoYbt7HIT
https://dl.doubtnut.com/l/_fkZzhtTo4bq9
https://dl.doubtnut.com/l/_KHSD8qyuzfXN


D. F, Cl

Answer: A

Watch Video Solution

12. White vitriol is

A. ZnS

B. 

C. 

D. 

Answer: C

Watch Video Solution

ZnSO4

ZnSO4 ⋅ 7H2O

ZnCO3

13. Among the following metals, the most dense is :

https://dl.doubtnut.com/l/_KHSD8qyuzfXN
https://dl.doubtnut.com/l/_f2FfQBjfMVvN
https://dl.doubtnut.com/l/_17f7Ycypl8ks


A. Osmium

B. Chromium

C. Platinum

D. Gold

Answer: A

Watch Video Solution

14. Give reason for the following: 

Silver nitrate solution is kept in coloured bottles.

A. oxidised in air

B. decomposes in sunlight

C. explodes in sunlight

D. reacts with air in sunlight

Answer: B

https://dl.doubtnut.com/l/_17f7Ycypl8ks
https://dl.doubtnut.com/l/_sf6fkfR9DbY4


Watch Video Solution

15. Which of the following is arranged in order of incresing melting point

?

A. Zn < Cu < Ni < Fe

B. Fe < Ni < Cu < Zn

C. 

D. Cu < Zn < Fe < Ni

Answer: A

Watch Video Solution

Ni < Fe < Zn < Cu

16. Calomel is the name of

A. 

B. 

HgCl2

Hg2Cl2

https://dl.doubtnut.com/l/_sf6fkfR9DbY4
https://dl.doubtnut.com/l/_RLymIytFs4rm
https://dl.doubtnut.com/l/_CsXj9svJD5r5


C. 

D. 

Answer: B

Watch Video Solution

HgCl2 + Hg

Hg2Cl2 + Hg

17. The iron salt used in blue prints is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeC2O4

Fe2(C2O4)3

K4Fe(CN)6

FeSO4

https://dl.doubtnut.com/l/_CsXj9svJD5r5
https://dl.doubtnut.com/l/_uV2cUkeK5mUZ


18. Percentage of gold in 14 carat gold is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

58

80

40

14

19. The maximum and minimum melting points of first and second

transition series respectively are observed with

A. 

B. 

C. 

D. 

Cr and Zn

Cr and Hg

Cr and Cd

Mo and Cd

https://dl.doubtnut.com/l/_rvee55HlYCGf
https://dl.doubtnut.com/l/_eWGB1QazPAXg


Answer: C

Watch Video Solution

20. Zinc oxide loses oxygen on heating according to the reaction,

 


It becomes yellow on heating because

A. d-d transition

B. C-T spectra

C. Higher polarisation caused by  ion

D. F-centres

Answer: D

Watch Video Solution

ZnO
heat
−−→ Zn2 + + O2 + 2e−1

2

Zn2 +

21. What happens when steam is passed over red hot iron ?

https://dl.doubtnut.com/l/_eWGB1QazPAXg
https://dl.doubtnut.com/l/_M7U9TgCZCnqE
https://dl.doubtnut.com/l/_Hssn0lKV4YdX


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe2O3 + H2

Fe3O4 + H2

FeO + H2

FeO + H2 + O2

22. Verdigris is

A. Basic copper acetate

B. Basic lead acetate

C. Basic lead

D. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Hssn0lKV4YdX
https://dl.doubtnut.com/l/_axf6I03P9oZ2


23. The formula of corrosive sublimate is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HgCl2

Hg2Cl2

Hg2Cl

Hg2Cl3

24. The product of oxidation of  with  in alkaline medium is:

A. 

B. 

C. 

I − MnO
−
4

I2

IO−
3

IO−

https://dl.doubtnut.com/l/_axf6I03P9oZ2
https://dl.doubtnut.com/l/_52bSEKaRsrnX
https://dl.doubtnut.com/l/_2g8IlyZtwLSu


D. 

Answer: B

Watch Video Solution

IO
−
4

25. Which of the following is the correct formula for a compound of

scandium and oxygne?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Sc2O

ScO

Sc3O2

Sc2O3

https://dl.doubtnut.com/l/_2g8IlyZtwLSu
https://dl.doubtnut.com/l/_eQ57ls4uVQLQ


26. Mercury on heating with aqua regia gives

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Hg(NO3)2

HgCl2

Hg(NO2)2

Hg2Cl2

27. Chloroplatinic acid is

A. monobasic

B. dibasic

C. tribasic

D. tetrabasic

https://dl.doubtnut.com/l/_bzb7fAb6zDtc
https://dl.doubtnut.com/l/_Y4orp3UIhova


Answer: B

Watch Video Solution

28. Which of the following statements is incorrect?

A. Mercurous ion exists as 

B. Mercurous ion is diamagnetic and exists as dimer 

C. Mercurous ion is colourless

D. There is a metallic bond between two  ions

Answer: A

Watch Video Solution

Hg+

Hg2 +
2

Hg+

29. Iron is rendered passive by treatment with

A. dil.H2SO4

https://dl.doubtnut.com/l/_Y4orp3UIhova
https://dl.doubtnut.com/l/_G9tPAvSiFdhB
https://dl.doubtnut.com/l/_2PPUemAj8D5T


B. dil. HCl

C. conc.

D. conc.

Answer: C

Watch Video Solution

HNO3

H2SO4

30. , what is A in the reaction ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2CO3 + Fe2O3 → A + CO2

NaFeO2

Na2FeO3

Fe3O4

Na2FeO4

https://dl.doubtnut.com/l/_2PPUemAj8D5T
https://dl.doubtnut.com/l/_VOxpGtDPraPl
https://dl.doubtnut.com/l/_DGXmOI3RAbqn


31. Ferrous sulphate on heating gives:

A. 

B.  Only

C.  Only

D.  Only

Answer: A

Watch Video Solution

SO2 and SO3

SO2

SO3

H2S

32. Photographic plates and films have an essential ingredient of

A. Silver Oxide

B. Silver Bromide

C. Silver Thiosulphate

D. Silver Nitrate

https://dl.doubtnut.com/l/_DGXmOI3RAbqn
https://dl.doubtnut.com/l/_bies2dlZSkJd


Answer: B

Watch Video Solution

33. In comparison of ferrous salts, ferric salts are:

A. more stable

B. less stable

C. equally stable

D. None of these

Answer: A

Watch Video Solution

34. Chrome yellow is chemically known as:

A. lead chromate

https://dl.doubtnut.com/l/_bies2dlZSkJd
https://dl.doubtnut.com/l/_Dyr55qcoksDs
https://dl.doubtnut.com/l/_znLBIsOuFkYb


B. lead sulphate

C. lead iodide

D. basic lead acetate

Answer: A

Watch Video Solution

35. The property, which is not characteristic of transition metals:

A. variable oxidation states

B. tendency to form complexes

C. formation of coloured compounds

D. None of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_znLBIsOuFkYb
https://dl.doubtnut.com/l/_FRldU79rgpwc
https://dl.doubtnut.com/l/_FODhfz0WlfdC


36. Iron is protected by coating it with a thin layer of:

A. Cu

B. Zn

C. Pb

D. Mg

Answer: B

Watch Video Solution

37. An oxide of copper which is red in colour has the formula:

A. 

B. 

C. 

D. 

CuO

Cu2O

CuO2

Cu2O2

https://dl.doubtnut.com/l/_FODhfz0WlfdC
https://dl.doubtnut.com/l/_Uw81eokR4d4w


Answer: B

Watch Video Solution

38. In a transition series, as the atomic number increases, paramagnetism

A. increase gradually

B. decrease gradually

C. first increase to a maximum and then decrease

D. first decrease to a minimum and then increase

Answer: C

Watch Video Solution

39. The formula of azurite is 

A. 

:

CuCO3 ⋅ Cu(OH)2

https://dl.doubtnut.com/l/_Uw81eokR4d4w
https://dl.doubtnut.com/l/_MrJlVr6b2jPJ
https://dl.doubtnut.com/l/_aEt93ubHZwxS


B. 

C. 

D. 

Answer: C

Watch Video Solution

2CuCO3 ⋅ Cu(OH)2

CuCO3 ⋅ 2Cu(OH)2

CuCO4 ⋅ Cu(OH)2

40. Oxide of metal cation which is not amphoteric ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Al3 +

Cr3 +

Fe3 +

Zn2 +

https://dl.doubtnut.com/l/_aEt93ubHZwxS
https://dl.doubtnut.com/l/_FfHLvclK9kZi
https://dl.doubtnut.com/l/_S5kUJ8VStmCL


41. The most abundant transition metal in earth crust is :

A. Zn

B. Fe

C. Hg

D. Au

Answer: B

Watch Video Solution

42.  solution + lime is called:

A. Luca's reagent

B. Befoed's reagent

C. Fehling solution A

D. Bordeaux mixture

CuSO4

https://dl.doubtnut.com/l/_S5kUJ8VStmCL
https://dl.doubtnut.com/l/_YnSchje4fDUh


Answer: D

Watch Video Solution

43. Preparation of looking mirrors involves the use of :

A. red lead

B. ammonical silver nitrate

C. ammonical +red lead

D. ammonical +red lead+HCHO

Answer: D

Watch Video Solution

AgNO3

AgNO3

44. When ammonia is added to cupric salt solution, the deep blue colour

is observed it is due to the formation of:

https://dl.doubtnut.com/l/_YnSchje4fDUh
https://dl.doubtnut.com/l/_zFOsXnxijnQ5
https://dl.doubtnut.com/l/_PEEyVdcpsy8U


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Cu(OH)4]
2 −

[Cu(NH3)4]
2 +

[Cu(H2O)2(NH3)2]
2 +

[Cu(H2O)4]
2 −

45. Philosopher's wool when heated with  at  gives the

compounds:

A. 

B. 

C. 

D. 

Answer: D

BaO 100∘C

BaCdO2

Ba + ZnO2

BaO2 + Zn

BaZnO2

https://dl.doubtnut.com/l/_PEEyVdcpsy8U
https://dl.doubtnut.com/l/_OOxrYcBkp4JN


Watch Video Solution

46. The electron which take part in order to exhibit variable oxidation

states by transition metals are

A. ns only

B. (n-1)d only

C. ns and (n-1)d only but not np

D. (n-1)d and np only but not ns

Answer: C

Watch Video Solution

47. On heating , the compounds obtained is

A. 

B. 

ZnCl2.2H2O

ZnCl2

Zn(OH)2

https://dl.doubtnut.com/l/_OOxrYcBkp4JN
https://dl.doubtnut.com/l/_WFY0XRY0uEcV
https://dl.doubtnut.com/l/_HAFs8KUPk96J


C. 

D. 

Answer: B::C

Watch Video Solution

ZnO

ZnH2

48. During estimation of oxalic acid Vs , self indicator is

A. 

B. oxalic acid

C. 

D. 

Answer: A

Watch Video Solution

KMnO4

KMnO4

K2SO4

MnSO4

https://dl.doubtnut.com/l/_HAFs8KUPk96J
https://dl.doubtnut.com/l/_5eznmfNmo5hj


49. Fe is made passive by :

A. (dil)

B. 

C. conc.

D. HCl

Answer: C

Watch Video Solution

H2SO4

H2PO4

HNO3

50. When  solution is added to hot oxalic acid solution, the

decolourisation is slow in the beginning but becomes instantaneous

after some time. This is because.

A.  acts as auto catalyst

B.  is formed

C. Reaction is exothermic

KMnO4

Mn2 +

CO2

https://dl.doubtnut.com/l/_agP6NUGetTMf
https://dl.doubtnut.com/l/_Fy7FU2PQYFe8


D.  catalyst the reaction

Answer: A

Watch Video Solution

MnO
−
4

51. Gold dissolves in a aqua-regia forming:

A. Auric chloride

B. Aurous chloride

C. Chloroauric acid

D. Aurous nitrate

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Fy7FU2PQYFe8
https://dl.doubtnut.com/l/_cXgCExq2dc7s


52. The solubility of silver bromide in hypo solution due to the formation

of

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ag2SO3

Ag2S2O3

[Ag(S2O3)] −

[Ag(S2O3)]3 −

53. Metal used for making joints in jewellery is

A. Zn

B. Cu

C. Ag

D. Cd

https://dl.doubtnut.com/l/_uk9HM20v65Sa
https://dl.doubtnut.com/l/_Pw6lUa1KSgW9


Answer: D

Watch Video Solution

54. Zn and Cd metals do not show varible valency because:

A. They have only two electrons in the outmost subshells

B. Their d-subshells are completely filled

C. Their d-subshells are partially filled

D. They are relatively soft metals

Answer: B

Watch Video Solution

55. Zn and Cd metals do not show variable valency because:

A. They have only two electrons in the outmost subshells

https://dl.doubtnut.com/l/_Pw6lUa1KSgW9
https://dl.doubtnut.com/l/_PInlFjUcZeNX
https://dl.doubtnut.com/l/_IqZqXF9u6lC5


B. Their d-subshells are completely filled

C. Their d-subshells are partially filled

D. They are relatively soft metals

Answer: B

Watch Video Solution

56. (yellow) changes to (orange) in pH=x and vice-versa in

pH=y. Hence, x and y are:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CrO
2 −
4 Cr2O

2 −
7

6, 8

6, 5

8, 6

7, 7

https://dl.doubtnut.com/l/_IqZqXF9u6lC5
https://dl.doubtnut.com/l/_yCD1A0i8NEP9


57. Manganese ions  can be oxidised by Persulphate ions 

according to the following half-equations, 

 


 


How many moles of  are required to oxidise 1mole of ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(Mn2 + ) S2O
2 −
8

S2O
2 −
8 + 2e− → 2SO2 −

4

Mn2 + + 4H2O → MnO
−
4 + 4H2O → MnO

−
4 + 8H + + 5e−

S2O
2 −
8 Mn2 +

2.5

2.0

11.0

0.4

58. AgCl on fusion with  forms:Na2CO3

https://dl.doubtnut.com/l/_yCD1A0i8NEP9
https://dl.doubtnut.com/l/_wIWDutgenEFs
https://dl.doubtnut.com/l/_k4D5xztBivzC


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ag2CO3

Ag2O

Ag

Ag2C2

59. Formula of Rust is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Fe2O3

FeO ⋅ xH2O

Fe2O3 ⋅ xH2O

Fe3O4 ⋅ xH2O

https://dl.doubtnut.com/l/_k4D5xztBivzC
https://dl.doubtnut.com/l/_WinJc4ciFhpF


60.  dissolves in aqueous NaOH to give :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CrO4

Cr2O
2 −
7

CrO
2 −
4

Cr(OH)3

Cr(OH)2

61. Chemically philosopher of wool is :

A. 

B. 

C. 

ZnO

BaO

HgCl

https://dl.doubtnut.com/l/_WinJc4ciFhpF
https://dl.doubtnut.com/l/_6OAeMRTPmpVc
https://dl.doubtnut.com/l/_UZSIZ3dRl4zw


D. 

Answer: A

Watch Video Solution

Hg2Cl2

62. Boiling  with Cu in conc. HCl gives:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CuCl2

CuCl

CuCl2

H[CuCl2]

Cu2Cl

63. Thermal decomposition of zinc nitrate give:

https://dl.doubtnut.com/l/_UZSIZ3dRl4zw
https://dl.doubtnut.com/l/_THjYZ8Xorc7y
https://dl.doubtnut.com/l/_V0BWKtjgiUdp


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Zn

ZnO

Zn(NO3)2

NO

64. Malachite and azurite are used respectively as:

A. Blue and green pigment

B. Red and green pigment

C. Green and blue pigment

D. Green and red pigment

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_V0BWKtjgiUdp
https://dl.doubtnut.com/l/_IA9kSsL5lzuu


65. Mercury is transported in the containers made of :

A. Ag

B. Pb

C. Al

D. Fe

Answer: D

Watch Video Solution

66. The higher oxidation states of transition elements are found to be in

the combination with A and B which are :

A. F, O

B. O, N

C. O, S

https://dl.doubtnut.com/l/_IA9kSsL5lzuu
https://dl.doubtnut.com/l/_hWopNnyft9cb
https://dl.doubtnut.com/l/_RTlUKCeqDTnL


D. F, Cl

Answer: A

Watch Video Solution

67. White vitriol is

A. ZnS

B. 

C. 

D. 

Answer: C

Watch Video Solution

ZnSO4

ZnSO4 ⋅ 7H2O

ZnCO3

68. Among the following metals, the most dense is :

https://dl.doubtnut.com/l/_RTlUKCeqDTnL
https://dl.doubtnut.com/l/_pewuO7LWcYvO
https://dl.doubtnut.com/l/_I7lSHwmuG55s


A. Osmium

B. Chromium

C. Platinum

D. Gold

Answer: A

Watch Video Solution

69. Silver nitrate is usually kept in coloured bottles because it is:

A. oxidised in air

B. decomposes in sunlight

C. explodes in sunlight

D. reacts with air in sunlight

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_I7lSHwmuG55s
https://dl.doubtnut.com/l/_QIqFEZWNODUC


70. Which of the following is arranged in order of increasing melting

point?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Zn < Cu < Ni < Fe

Fe < Ni < Cu < Zn

Ni < Fe < Zn < Cu

Cu < Zn < Fe < Ni

71. Calomel is the name of :

A. 

B. 

C. 

HgCl2

Hg2Cl2

HgCl2 + Hg

https://dl.doubtnut.com/l/_QIqFEZWNODUC
https://dl.doubtnut.com/l/_TBH1vArNZLFr
https://dl.doubtnut.com/l/_GKzc9L0LegPY


D. 

Answer: B

Watch Video Solution

Hg2Cl2 + Hg

72. The iron salt used in blue prints is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeC2O4

Fe2(C2O4)3

K4Fe(CN)6

FeSO4

73. Percentage of gold in 14 carat gold is :

https://dl.doubtnut.com/l/_GKzc9L0LegPY
https://dl.doubtnut.com/l/_fN5G9mfZ3yGh
https://dl.doubtnut.com/l/_57Ao2LQ9mPLU


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

58

80

40

14

74. The maximum and minimum melting point of first and second series

elements respectively are obtained with:

A. 

B. 

C. 

D. 

Answer: C

Cr and Zn

Cr and Hg

Cr and Cd

Mo and Cd

https://dl.doubtnut.com/l/_57Ao2LQ9mPLU
https://dl.doubtnut.com/l/_AApF6b4tw1zX


Watch Video Solution

75. Zinc oxide loses oxygen on heating according to the reaction,

 


It becomes yellow on heating because

A. d-d transition

B. C-T spectra

C. Higher polarisation caused by  ion

D. F-centres

Answer: D

Watch Video Solution

ZnO
heat
−−→ Zn2 + + O2 + 2e−1

2

Zn2 +

76. When steam is passed over red hot iron, the substance formed are:

A. Fe2O3 + H2

https://dl.doubtnut.com/l/_AApF6b4tw1zX
https://dl.doubtnut.com/l/_rpyiTUbE2yhw
https://dl.doubtnut.com/l/_vDvpB4T5hWWQ


B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe3O4 + H2

FeO + H2

FeO + H2 + O2

77. Verdigris is:

A. Basic copper acetate

B. Basic lead acetate

C. Basic lead

D. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vDvpB4T5hWWQ
https://dl.doubtnut.com/l/_qyRwdmX1HBtH
https://dl.doubtnut.com/l/_rKuorqY9ZgzG


78. Corrosive sublimate is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HgCl2

Hg2Cl2

Hg2Cl

Hg2Cl3

79. The product of  with  in alkaline medium is:

A. 

B. 

C. 

D. 

I − MnO
−
4

I2

IO−
3

IO−

IO
−
4

https://dl.doubtnut.com/l/_rKuorqY9ZgzG
https://dl.doubtnut.com/l/_H2SlcV84DVcI


Answer: B

Watch Video Solution

80. Which of the following is the correct formula for a compound of

scandium and oxygne?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Sc2O

ScO

Sc3O2

Sc2O3

81. Mercury on heating with aqua-regia gives:

https://dl.doubtnut.com/l/_H2SlcV84DVcI
https://dl.doubtnut.com/l/_mdvb1wRmGDsv
https://dl.doubtnut.com/l/_ZWTAwBA3golh


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Hg(NO3)2

HgCl2

Hg(NO2)2

Hg2Cl2

82. Chloroplatinic acid is:

A. monobasic

B. dibasic

C. tribasic

D. tetrabasic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZWTAwBA3golh
https://dl.doubtnut.com/l/_9Xkr8sZTj4FN


83. Which of the following statements is incorrect?

A. Mercurous ion exists as 

B. Mercurous ion is diamagnetic and exists as dimer 

C. Mercurous ion is colourless

D. There is a metallic bond between two  ions

Answer: A

Watch Video Solution

Hg+

Hg2 −
2

Hg+

84. Fe is made passive by :

A. dil.

B. dil. HCl

C. conc.

H2SO4

HNO3

https://dl.doubtnut.com/l/_9Xkr8sZTj4FN
https://dl.doubtnut.com/l/_hTyJ3vmNf5Rh
https://dl.doubtnut.com/l/_bk0NfRwAaAJT


D. conc.

Answer: C

Watch Video Solution

H2SO4

85.  what is A in the reaction?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2CO3 + Fe2O3

Δ
−−→ A + CO2

NaFeO2

Na2FeO3

Fe3O4

Na2FeO4

86. Ferrous sulphate on heating gives:

https://dl.doubtnut.com/l/_bk0NfRwAaAJT
https://dl.doubtnut.com/l/_oZOohofNUUlu
https://dl.doubtnut.com/l/_ZA9HRKEZhmvm


A. 

B.  Only

C.  Only

D.  Only

Answer: A

Watch Video Solution

SO2 and SO3

SO2

SO3

H2S

87. Photographic films or plates have …… as an essential ingredient.

A. Silver Oxide

B. Silver Bromide

C. Silver Thiosulphate

D. Silver Nitrate

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZA9HRKEZhmvm
https://dl.doubtnut.com/l/_asljbnKcEqt5


88. In comparison of ferrous salts, ferric salts are:

A. more stable

B. less stable

C. equally stable

D. None of these

Answer: A

Watch Video Solution

89. Chrome yellow is chemically known as:

A. lead chromate

B. lead sulphate

C. lead iodide

https://dl.doubtnut.com/l/_asljbnKcEqt5
https://dl.doubtnut.com/l/_iXMp5HYZiOIA
https://dl.doubtnut.com/l/_ClFDnd8fuijP


D. basic lead acetate

Answer: A

Watch Video Solution

90. The property, which is not characteristic of transition metals:

A. variable oxidation states

B. tendency to form complexes

C. formation of coloured compounds

D. None of these

Answer: D

Watch Video Solution

91. Iron is protected by coating it with a thin layer of:

https://dl.doubtnut.com/l/_ClFDnd8fuijP
https://dl.doubtnut.com/l/_AVQSa2XkOUAW
https://dl.doubtnut.com/l/_QJbuEA8W1ddV


A. Cu

B. Zn

C. Pb

D. Mg

Answer: B

Watch Video Solution

92. An oxide of copper which is red in colour has the formula:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CuO

Cu2O

CuO2

Cu2O2

https://dl.doubtnut.com/l/_QJbuEA8W1ddV
https://dl.doubtnut.com/l/_Wuneki1HNkqY


93. In a transition series, as the atomic number increase paramagnetism:

A. increase gradually

B. decrease gradually

C. first increase to a maximum and then decrease

D. first decrease to a minimum and then increase

Answer: C

Watch Video Solution

94. The formula of azurite is:

A. 

B. 

C. 

CuCO3 ⋅ Cu(OH)2

2CuCO3 ⋅ Cu(OH)2

CuCO3 ⋅ 2Cu(OH)2

https://dl.doubtnut.com/l/_Wuneki1HNkqY
https://dl.doubtnut.com/l/_wO0OPIvaQCd7
https://dl.doubtnut.com/l/_mdnQL5qabXSc


D. 

Answer: C

Watch Video Solution

CuCO4 ⋅ Cu(OH)2

95. Oxide of metal cation which is not amphoteric?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Al3 +

Cr3 +

Fe3 +

Zn2 +

96. The most abundant transition metal in earth crust is :

https://dl.doubtnut.com/l/_mdnQL5qabXSc
https://dl.doubtnut.com/l/_guhUr8KHFtG0
https://dl.doubtnut.com/l/_JxgmtAMTcGJK


A. Zn

B. Fe

C. Hg

D. Au

Answer: B

Watch Video Solution

97.  solution +lime is called:

A. Luca's reagent

B. Befoed's reagent

C. Fihling solution A

D. Bordeaux mixture

Answer: D

Watch Video Solution

CuSO4

https://dl.doubtnut.com/l/_JxgmtAMTcGJK
https://dl.doubtnut.com/l/_BgL5nNTmDsPO


98. Preparation of looking mirrors involves the use of :

A. red lead

B. ammonical silver nitrate

C. ammonical +red lead

D. ammonical +red lead+HCHO

Answer: D

Watch Video Solution

AgNO3

AgNO3

99. When ammonia is added to cupric salt solution, the deep blue colour

is observed it is due to the formation of:

A. 

B. 

C. 

[Cu(OH)4]
2 −

[Cu(NH3)4]
2 +

[Cu(H2O)2(NH3)2]
2 +

https://dl.doubtnut.com/l/_BgL5nNTmDsPO
https://dl.doubtnut.com/l/_91jd7fAkWpbu
https://dl.doubtnut.com/l/_s9S5eAlznrao


D. 

Answer: B

Watch Video Solution

[Cu(H2O)4]
2 −

100. Philosopher's wool when heated with  at  gives the

compounds:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BaO 100∘C

BaCdO2

Ba + ZnO2

BaO2 + Zn

BaZnO2

https://dl.doubtnut.com/l/_s9S5eAlznrao
https://dl.doubtnut.com/l/_HcXJTajpfNrF


101. The electrons which take part in order to exhibit variable oxidation

states by transition metals are:

A. ns only

B. (n-1)d only

C. ns and (n-1)d only but not np

D. (n-1)d and np only but not ns

Answer: C

Watch Video Solution

102. On heating , the compound obtained is:

A. 

B. 

C. 

D. 

ZnCl2 ⋅ 2H2O

ZnCl2

Zn(OH)2

ZnO

ZnH2

https://dl.doubtnut.com/l/_VwCy4JX7kl3G
https://dl.doubtnut.com/l/_aPv0whbuwVup


Answer: B::C

Watch Video Solution

103. During estimation of oxalic acid Vs  self indicator is :

A. 

B. oxalic acid

C. 

D. 

Answer: A

Watch Video Solution

KMnO4

KMnO4

K2SO4

MnSO4

104. Iron is rendered passive by treatment with:

A. (dil)H2SO4

https://dl.doubtnut.com/l/_aPv0whbuwVup
https://dl.doubtnut.com/l/_TfJAIIHxJX5I
https://dl.doubtnut.com/l/_Mso4zcS3ECPa


B. 

C. conc.

D. HCl

Answer: C

Watch Video Solution

H2PO4

HNO3

105. When  solution is added to oxalic acid solution, the

decolourisation is slow in the beginning but becomes instantaneous

after some time because

A.  acts as auto catalyst

B.  is formed

C. Reaction is exothermic

D.  catalyst the reaction

Answer: A

KMnO4

Mn2 +

CO2

MnO
−
4

https://dl.doubtnut.com/l/_Mso4zcS3ECPa
https://dl.doubtnut.com/l/_yUDK2nGRBLzZ


Watch Video Solution

106. Gold dissolves in a aqua-regia forming:

A. Auric chloride

B. Aurous chloride

C. Chloroauric acid

D. Aurous nitrate

Answer: C

Watch Video Solution

107. The solubility of silver bromide in hypo solution is due to the

formation of:

A. 

B. 

Ag2SO3

Ag2S2O3

https://dl.doubtnut.com/l/_yUDK2nGRBLzZ
https://dl.doubtnut.com/l/_GzuhZ9pzEQkI
https://dl.doubtnut.com/l/_xziGtP1Drucf


C. 

D. 

Answer: D

Watch Video Solution

[Ag(S2O3)] −

[Ag(S2O3)]3 −

108. Metal used for making joints in jewellery is:

A. Zn

B. Cu

C. Ag

D. Cd

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xziGtP1Drucf
https://dl.doubtnut.com/l/_AZtthcFzOIg4


109. Zn and Cd metals do not show variable valency because:

A. They have only two electrons in the outmost subshells

B. Their d-subshells are completely filled

C. Their d-subshells are partially filled

D. They are relatively soft metals

Answer: B

Watch Video Solution

110. Zn and Cd metals do not show variable valency because:

A. They have only two electrons in the outmost subshells

B. Their d-subshells are completely filled

C. Their d-subshells are partially filled

D. They are relatively soft metals

https://dl.doubtnut.com/l/_oxiOvdfNzNBg
https://dl.doubtnut.com/l/_q7Yr7wTVvKmM


Level 2

Answer: B

Watch Video Solution

1. Which of the following is known as Wilkinson's catalyst?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Ph3P )3RhCl]

TiCl4 + (C2H5)3Al

(C2H5)4Pb

[PtCl2(NH3)2]

https://dl.doubtnut.com/l/_q7Yr7wTVvKmM
https://dl.doubtnut.com/l/_aOl2xG6v4goB


2. Which of the following is not a consequence of the Lanthanoid

contraction?

A. 5d series elements have a higher  than 3d or 4d series

B. Zr and Hf have a comparable size

C. Zr and Hf occurs together in the earth crust in their minerals

D. High density of the sixth period elements

Answer: D

Watch Video Solution

IE1

3. A metal M and its compound can give the following observable changes

in a consequence of reactions

https://dl.doubtnut.com/l/_UL1q6ZiWNLrm
https://dl.doubtnut.com/l/_NesqWASIT7zs


A. Mg

B. Pb

C. Zn

D. Sn

Answer: C

Watch Video Solution

4. Sodium thiosulphate is used to remove the unexposed AgBr from

photographic films by forming a complex. In this complex of silver, the

coordination number of silver is:

A. 

B. 

C. 

D. 

2

4

6

8

https://dl.doubtnut.com/l/_NesqWASIT7zs
https://dl.doubtnut.com/l/_eGPerl2A62Zh


Answer: B

Watch Video Solution

5. Each of the following ion contains vanadium the +5 oxidation state

except

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

VO+
2

V (OH)
+
4

VO2 +

[VO3OH]2 −

6. Mercury (II) chloride solution on reaction with gaseous ammonia forms:

https://dl.doubtnut.com/l/_eGPerl2A62Zh
https://dl.doubtnut.com/l/_huy5wxkCSZyO
https://dl.doubtnut.com/l/_CJcV3fnaFcSN


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Hg(NH3)Cl ⋅ HgO

Hg(NH3)2Cl2

[Hg(NH3)2]Cl2

[Hg(NH3)2]Cl

7. Copper sulphate is prepared by blowing a current of air through

copper scrap and dilute . Dilute  is also added

A. to oxidize copper to  which then form  with dilute 

B. to oxidise  to ion (III) sulphate, which remains in solution after

crystallisation of 

C. to speed up the ionisation of  to give  ions

H2SO4 HNO3 :

Cu2 + CuSO4

H2SO4

Fe2 +

CuSO4

H2SO4 SO
2 −
4

https://dl.doubtnut.com/l/_CJcV3fnaFcSN
https://dl.doubtnut.com/l/_BZfpjghQ7cCP


D. Which combines with  to give a very strong oxidising

mixture and oxidise Cu to 

Answer: A

Watch Video Solution

H2SO4

Cu2 +

8. Which two sets of reactants best represent the amphoteric character

of ? 

Set  


Set  


Set  


Set 

A. 1 and 2

B. 1 and 3

C. 2 and 4

D. 3 and 4

Zn(OH)2

1:Zn(OH)2&OH − (aq)

2:Zn(OH)2(s)&H2O(l)

3:Zn(OH)2(s)&H + (aq)

4:Zn(OH)2(s)&NH3(aq)

https://dl.doubtnut.com/l/_BZfpjghQ7cCP
https://dl.doubtnut.com/l/_w52Vt2scoHIF


Answer: B

Watch Video Solution

9. The false statement about iron (III) hydroxide is that:

A. it is weaker base than 

B. with concentrated KOH, it forms a complex 

C. it gradually losses water and transfer into 

D. it exhibits amphoteric properties with its predominating acidic

nature

Answer: B::D

Watch Video Solution

Fe(OH)2

K3[Fe(OH)6]

Fe2O3

10.  


 


AgNO3

Δ
−−→ (W) + (X) + O2

(X) + H2O → HNO2 + HNO3

https://dl.doubtnut.com/l/_w52Vt2scoHIF
https://dl.doubtnut.com/l/_3aeAUgTYqkVC
https://dl.doubtnut.com/l/_mcFEcLGrO76p


 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(W) + HNO3 → Y + NO + H2O

(Y ) + Na2S2O3(excess) → (Z) + NaNO3

W = Ag, X = N2O, Y = AgNO3, Z = Na2[Ag(S2O3)2]

W = Ag2O, X = NO, Y = AgNO3, Z = Na3[Ag(S2O3)2]

W = Ag, X = NO2, Y = AgNO3, Z = Na3[Ag(S2O3)2]

W = Ag2O, X = N2, Y = AgNO3, Z = Na[Ag(S2O3)2]

11. The oxidation state of copper changes when aqueous copper (II) ions

react with: 

(I)  (II)  (III)

A. I, II, III

B. II only

C. II, III

NaOH(aq) Fe(s) KI(aq)

https://dl.doubtnut.com/l/_mcFEcLGrO76p
https://dl.doubtnut.com/l/_yEcu97CnXlMN


D. I only

Answer: C

Watch Video Solution

12. The aqueous solution of transition metal salt changes colour from

pink to blue, when concentrated hydrochloric acid is added to it. The

changes in colour is due to:

A. evolution of hydrogen that changes the oxidation state of the

metal ion

B. change in the coordination number of the metal ion from 6 to 4

and formation of new species in solution

C. formation of a coordination complex of the metal ion with

hydrochloric acid

D. protonation of the metal ion

https://dl.doubtnut.com/l/_yEcu97CnXlMN
https://dl.doubtnut.com/l/_oHL34AllWsWM


Answer: B

Watch Video Solution

13. Limestone is present in the blast furnance production of iron in order

to: 

(I) provide a source of CaO 

(II) remove some impurities 

(III) supply 

A. I, II, III

B. I, II

C. II, III

D. I only

Answer: B

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_oHL34AllWsWM
https://dl.doubtnut.com/l/_NUDrDWwwOlhQ
https://dl.doubtnut.com/l/_tQHwD7Tlkgh5


14. Paramagnetism is not exhibited by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CuSO4 ⋅ 5H2O

CuCl2 ⋅ 5H2O

CuI

NiSO4 ⋅ 4H2O

15. Which of the comparison Zn, Cd, Hg is/are incorrect? 

(I)  is ionic whereas  is covalent 


(II) Zn and Cd dissolves in dilute acid HCl liberating  but Hg can not 


(III) Zn and cd forming with ppt. of  but Hg

forms coloured ppt. of . 


(IV) All form  type ion

A. Only III

ZnCl2 CdCl2 and HgCl2

H2

Zn(OH)2 and Cd(OH)2

Hg(OH)2

A2 +
2

https://dl.doubtnut.com/l/_tQHwD7Tlkgh5
https://dl.doubtnut.com/l/_xt1BJK8ECShM


B. I, III, IV

C. I and IV

D. All of these

Answer: B

Watch Video Solution

16. The oxoanion in which the oxidation state of the central atom is same

as its group number in the periodic table is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SO2 −
2

VO−
2

MnO
2 −
4

Cr2O
2 −
7

https://dl.doubtnut.com/l/_xt1BJK8ECShM
https://dl.doubtnut.com/l/_bqf8FMKzVsZ7


17. Which compound is formed when iron reacts with carbon?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeC2

Fe3C

FeC3

Fe2C

18. Which of the following compound can produce Riemann's green with

 solution?

A. 

B. 

C. 

Co(NO3)2

ZnO

3Zn(OH)2 ⋅ ZnCO3

ZnSO4

https://dl.doubtnut.com/l/_bqf8FMKzVsZ7
https://dl.doubtnut.com/l/_neg5HPhZXjty
https://dl.doubtnut.com/l/_L890CeqaSkAB


D. All of these

Answer: D

Watch Video Solution

19. Which of the following electronic configuration is associated with the

highest stable oxidation state?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Ar]3d14s2

[Ar]3d54s1

[Ar]3d54s2

[Ar]3d64s2

https://dl.doubtnut.com/l/_L890CeqaSkAB
https://dl.doubtnut.com/l/_rhDugtZhl8Dp


20. A blood red colour is obtained when ferric chloride solution reacts

with:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KCN

KSCN

K4[Fe(CN)6]

K3[Fe(CN)6]

21. Metal-Metal bonding is more frequent in 4d or 5d series than in 3d

series due to

A. their greater enthelpies of atomisation

B. the larg size of the orbitals which participates in the metal-metal

bond formation

https://dl.doubtnut.com/l/_4655CJ70CPqM
https://dl.doubtnut.com/l/_fSar21sKlJ58


C. their ability to involve both ns and (n-1)d electrons in the bond

formation

D. the comparable size of 4d and 5d series elements

Answer: A

Watch Video Solution

22. The maximum and minimum melting points of first and second

transition series respectively are observed with

A. Cr and Zn

B. Cr and Cd

C. Cr and Hg

D. Mo and Cd

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fSar21sKlJ58
https://dl.doubtnut.com/l/_LRi4yVNvSK3L


23. If a aqueous solution of copper (II) sulphate is saturated with

ammoina, the blue compound ----- crystallises on evaporation.

A.  (square planar)

B. (Tetrahedral)

C.  (Octahedral)

D. (Octahedral)

Answer: A

Watch Video Solution

[Cu(NH3)4]SO4 ⋅ H2O

[Cu(NH3)4]SO4

[Cu(NH3)6]SO4

[Cu(SO2)(NH3)5]

24. In the extraction of copper, metal is formed in the Bessemer converter

due to reaction

A. 

B. 

2Cu2O → 4Cu + O2

2CuO + CuS → 3Cu + SO2

https://dl.doubtnut.com/l/_LRi4yVNvSK3L
https://dl.doubtnut.com/l/_YEBujXN73fZK
https://dl.doubtnut.com/l/_n7U8F0TOzcc5


C. 

D. 

Answer: C

Watch Video Solution

Cu2S + 2Cu2O → 6Cu + SO2

Fe + Cu2O → FeO + 2Cu

25. The compound in which nickel has the lower oxidation states is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ni(CO)4

(CH3COO)2Ni

NiO

NiCl2(PPh3)2

https://dl.doubtnut.com/l/_n7U8F0TOzcc5
https://dl.doubtnut.com/l/_xfGbamHst4wi


26. A metal  which is not affected by strong acids like conc. 

 and conc. Solution of alkalies like 

forms  which finds use for toning in photography. The metal  is

A. Ag

B. Hg

C. Au

D. Cu

Answer: C

Watch Video Solution

M

HNO3, conc. H2SO4 NaOH, KOH

MCI3 M

27. Copper (II) ions gives reddish brown precipitate with potassium

ferrocyanide. The formula of the precipitate is:

A. 

B. 

Cu4[fe(CN)6

Cu2[Fe(CN)6]

https://dl.doubtnut.com/l/_nXBYjPiz5h8v
https://dl.doubtnut.com/l/_azT876P6Elpa


C. 

D. 

Answer: B

Watch Video Solution

Cu3[Fe(CN)6]

Cu3[Fe(CN)6]
2

28. Which of the following electronic configruation would be associated

with the highest magnetic moment

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Ar]3d8

[Ar]3d3

[Ar]3d6

[Ar]3d7

https://dl.doubtnut.com/l/_azT876P6Elpa
https://dl.doubtnut.com/l/_NBc6Mo3AYU19
https://dl.doubtnut.com/l/_LTx9lMnG8qCg


29. The correct statement about iron includes 

(I) the oxidation state of iorn is  in  


(II) that the iron shows  oxidation state with  electron in the 3d

orbitals 

(III) the common oxidation state of iron is  with five unpaired electron

in the 3d orbital

A. I, II, III

B. I, II

C. II, III

D. I only

Answer: A

Watch Video Solution

+6 K2FeO4

+2 6

+3

30. Interstitial compounds are formed when small atoms are trapped

inside the crystal lattice of metals. Which of the following are the

https://dl.doubtnut.com/l/_LTx9lMnG8qCg
https://dl.doubtnut.com/l/_B8ao0rEa1Ozh


characteristic properties of interstitial compounds? 

I. They have high melting points in comparison to pure metals. 

II. They are very hard. 

III. They retain metallic conductivity. 

IV. They are chemically very reactive.

A. I, II, III

B. I, III

C. II, IV

D. IV only

Answer: A

Watch Video Solution

31. Tc the element below Mn in the periodic table, would be expected to

have high values for its : 

(I) boiling point , (II) melting point 

(III) density

https://dl.doubtnut.com/l/_B8ao0rEa1Ozh
https://dl.doubtnut.com/l/_M6nDCaR96SAZ


A. I, II, III

B. I, II

C. II, III

D. I only

Answer: A

Watch Video Solution

32. All Zn(+II) compounds are white because:

A.  has a  configuration and the d-subshell is full

B.  shows d-d transition

C.  has no electron in the 4s-subshell

D. Zn is not a transition element

Answer: A

Watch Video Solution

Zn2 + d10

Zn2 +

Zn2 +

https://dl.doubtnut.com/l/_M6nDCaR96SAZ
https://dl.doubtnut.com/l/_j2ObPlu8IYXH


33. Identify the wrong statement regarding copper sulphate 

A. It reacts with KI to give 

B. It reacts with KCl to give 

C. It's tartarate complex reacts with NaOH and glucose to give 

D. It gives CuO on strong heating in air

Answer: B

Watch Video Solution

:

I2

Cl2

Cu2O

34. The transition metals exhibit higher enthalpies of atomisation due to:

A. their ability to show variable oxidation states

B. the presence of incompletely filled d-subshell

C. their ability to exist in the solid state with unpaired electrons

https://dl.doubtnut.com/l/_j2ObPlu8IYXH
https://dl.doubtnut.com/l/_97bcnR0dTEEu
https://dl.doubtnut.com/l/_JxjaSkhXzcHQ


D. strong interatomic interaction arises because of having large

number of unpaired electrons in their atoms

Answer: D

Watch Video Solution

35. Which of the following are correct about Zn,Cd,Hg 

I) They exhibit enthalpy of atomisation as the d-subshell is full 

II) Zn,Cd do not show variable oxidation states, Hg can show +1,+2 states 

III) Compounds of  are paramagnetic 

IV) They are soft metals

A. I, II, III

B. I, III

C. II, IV

D. IV only

Answer: C

Zn, Cd, Hg

https://dl.doubtnut.com/l/_JxjaSkhXzcHQ
https://dl.doubtnut.com/l/_omGutdTl5YwF


Watch Video Solution

36. When mercury (II) chloride is treated with excess of stannous chloride,

the products obtained are :

A. liquid Hg and 

B. 

C. 

D. liquid Hg and 

Answer: A

Watch Video Solution

SnCl4

Hg2Cl2 and SnCl4

Hg2Cl2 and [SnCl4]2 −

[SnCl4]2 −

37. Which of the following is NOT a characteristic of the transition

elements in the series from scandium to zinc?

A. The formation of coloured cations

https://dl.doubtnut.com/l/_omGutdTl5YwF
https://dl.doubtnut.com/l/_IKCOs22wZtaz
https://dl.doubtnut.com/l/_Lr1nAAReyKBj


B. The presence of at least one unpaired electron in a d-orbital of a

cation

C. The ability of form complex ions

D. The possession of an oxidation state of +I

Answer: A::D

Watch Video Solution

38. Spiegeleisen is an alloy of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu + Zn + Ni

Ni + Cr

Mn + Fe + C

Fe + Cr + Ni

https://dl.doubtnut.com/l/_Lr1nAAReyKBj
https://dl.doubtnut.com/l/_bMlOfM99TCK3


39. The treatment of zinc with very dilute nitric acid produces:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NO

N2O

NO2

NH
+

4

40. Sodium chromate,  is made commerically by :

A. heating mixture of 

B. heating mixture of chromate ore and sodium carbonate in the

presence of oxygen

Na2CrO4

Cr2O3 and Na2CO3

https://dl.doubtnut.com/l/_bMlOfM99TCK3
https://dl.doubtnut.com/l/_73dBxUAougmg
https://dl.doubtnut.com/l/_TSzNYeGJSJYB


C. heating sodium dichromate with sodium carbonate

D. reacting NaOH with chromic acid

Answer: B

Watch Video Solution

41. Anhydrous mercurous chloride can be prepared by:

A. the reduction of  with  solution

B. the reaction of  with Hg

C. the reaction of Hg with concentrated HCl

D. None of these

Answer: B

Watch Video Solution

HgCl2 SnCl2

HgCl2

https://dl.doubtnut.com/l/_TSzNYeGJSJYB
https://dl.doubtnut.com/l/_W30cy8bbHzBg


42. When aqueous NaOH is added to an aqueous solution of chromium

(III ) ions, a green blue precipitate is first formed which re - dissolves to

give a green solution. The green colour is due to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Cr(H2O)6]
3 +

CrO
2 −
4

[Cr(OH)4]
−

[Cr(OH)3(H2O)3]

43.  is a covalent compound, sparingly soluble in water, the

solubility increase by the addition of chloride ions due to:

A. common ion effect

B. formation of complex 

HgCl2

[HgCl4]2 −

https://dl.doubtnut.com/l/_NCVycP6MdnvS
https://dl.doubtnut.com/l/_hmPJVPxyhTYf


C. weakening of Hg-Cl bonds

D. strong ion-dipole forces

Answer: B

Watch Video Solution

44. Amongst  the colourless

species are:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

TiF 2 −
6 , CoF 3 −

6 , Cu2Cl2 and NiCl
2 −
4

CoF 3 −
6 and NiCl

2 −
4

TiF 2 −
6 and CoF 3 −

6

Cu2Cl2 and NiCl
2 −
4

TiF 2 −
6 and Cu2Cl2

https://dl.doubtnut.com/l/_hmPJVPxyhTYf
https://dl.doubtnut.com/l/_IAw67nEe2VkZ
https://dl.doubtnut.com/l/_vedws7sai6lE


45. Which of the following complex ion has a magnetic moment same as

?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Cr(H2O)6]
3 +

[Mn(H2O)6]
4 +

[Mn(H2O)6]
3 +

[Fe(H2O)6]
3 +

[Cu(H3N)4]
2 +

46. Silver nitrate solution is kept in brown bottles in laboratory because:

A. it reacts with ordinary bottles

B. brown bottles cut the passage of light through

C. brown bottles do not react with it

D. ordinary bottles catalyst its decomposition

https://dl.doubtnut.com/l/_vedws7sai6lE
https://dl.doubtnut.com/l/_RVAriImUCG3F


Answer: B

Watch Video Solution

47. Copper is very slowly oxidised on the surface in moist air, giving a

green coating of vergiris is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu2O

CuCO3

Cu(CH3COO)2 ⋅ Cu(OH)2

CuSO4

48.  is precipitated from Fe(II) solutions as a while solid turns

dark green and then brown due to the formation of:

Fe(OH)2

https://dl.doubtnut.com/l/_RVAriImUCG3F
https://dl.doubtnut.com/l/_pAJWd5A7FfM7
https://dl.doubtnut.com/l/_kfNx0fLMoqKY


A. 

B. Only 

C. 

D. 

Answer: C

Watch Video Solution

Fe(OH)2 and Fe(OH)3

Fe(OH)3

Fe2O3 ⋅ (H2O)n

Fe2O3 ⋅ 2H2O

49. Pure  instead of air is used to oxidise the pig iron because:

A. Molten metal took up small amount of nitrogen which makes the

steel brittle

B. Air is not as efficient to oxidise all the impurities to their respective

oxides

C. Air contains moisture and will precipitate iron as 

D. Iron reacts with air to 

O2

Fe2O3

FeCO3

https://dl.doubtnut.com/l/_kfNx0fLMoqKY
https://dl.doubtnut.com/l/_spTroYTisN1i


Answer: A

Watch Video Solution

50. Give the correct order of initials T of F for following statements. Use T

if statements is true and F if it is false. 

 Sulphide reacts with  to form a purple coloured

compound  . In the reaction, the oxidation state

of iron changes. 

 compounds are relatively more stable than 

compounds 

 The welding of magnesium can be done in the atmosphere of

Helium. 

 on hydrolysis will give 

A. FFTT

B. FTTT

C. TFTF

I) Na2[Fe(CN)5(NO)]

Na4[Fe(CN)5(NOS)]

II)Pt(IV ) Ni(IV )

III)

IV )LiAlH4 H2

https://dl.doubtnut.com/l/_spTroYTisN1i
https://dl.doubtnut.com/l/_szLQIUoJbofz


D. TFTT

Answer: B

Watch Video Solution

51. For  


pink 


Which of the following is correct ?

A. X=black, , Y=Blue, , Z=

B. X=Green, , Y=Yellow, , Z=

C. X=black, , Y=green, , Z=

D. X=black, , Y=colourless, , Z=

Answer: C

Watch Video Solution

(A) + K2CO3 + air
Heat
−−→ (B)

(B) + CI2 → (C)

MnO2 CrO4 KMnO4

Cr2O3 K2CrO4 K2Cr2O7

MnO2 K2MnO4 KMnO4

Bi2O3 KBiO2 KBiO3

https://dl.doubtnut.com/l/_szLQIUoJbofz
https://dl.doubtnut.com/l/_uLXUYHMFLMvz
https://dl.doubtnut.com/l/_dHeQgoHLVcjX


52. Sodium thiosulphate,  is used in photography to

A. Reduce the silver bromide to metallic silver

B. Convert the metallic silver to silver salt

C. Reduce undecomposed AgBr as soluble silver thiosulphate complex

D. Remove reduced silver

Answer: C

Watch Video Solution

Na2S2O3.5H2O

53. The advantage(s) of using  rather than air in the steel industry

is(are) 

(I) there is a faster conversion , so a given plant can produce more steel in

a day. 

(II) larger quantities can be handled 

(III) it gives a pure product and the surface is free from nitrides

A. I only

O2

https://dl.doubtnut.com/l/_dHeQgoHLVcjX
https://dl.doubtnut.com/l/_VemmY1GbiMoR


B. II and III only

C. II only

D. I, II and III

Answer: D

Watch Video Solution

54. When  comes in contact with skin, it leaves a black stain. This

is because of:

A.  produced by hydrolysis of 

B.  produced by hydrolysis of 

C. Its reduction of silver

D. Its oxidation to silver oxide

Answer: C

Watch Video Solution

AgNO3

HNO3 AgNO3

AgOH AgNO3

https://dl.doubtnut.com/l/_VemmY1GbiMoR
https://dl.doubtnut.com/l/_0HF4sM6gAhSl


55. The aqueous solution of copper(II) sulphate is slowly hydrolysed

forming basic copper sulphate whose chemical composition is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CuSO4 ⋅ Cu(OH)2

CuSO4 ⋅ CuO

CuSO4 ⋅ Cu(OH)2 ⋅ CuO

[Cu(H2O)4]SO4 ⋅ H2O

56. Passivity of iron is due to formation of:

A. 

B. 

C. 

Fe2O3

Fe3O4

FeSO4

https://dl.doubtnut.com/l/_0HF4sM6gAhSl
https://dl.doubtnut.com/l/_wyCXWsY6Yuzi
https://dl.doubtnut.com/l/_1Knoln9fL5lL


D. None of these

Answer: B

Watch Video Solution

57. Zinc carbonate is precipitated from zinc sulphate solution by the

addition of:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2CO3

CaCO3

MgCO3

NaHCO3

https://dl.doubtnut.com/l/_1Knoln9fL5lL
https://dl.doubtnut.com/l/_67yDeamn78KM


58. Mark the correct statements:

A. Hg forms an amalgam with iron

B. Hg vapour is non-poisonous

C. Hg is mono atomic and monovalent in mercurous compound

D. Oxysalts of mercury are thermally unstable

Answer: D

Watch Video Solution

59. Mercury is the only metal which is liquid at .this is due to

A. Very high ionisation energy and weak metallic bond

B. Low ionisation potential

C. High atomic weight

D. High vapour pressure

0∘C

https://dl.doubtnut.com/l/_Vsz4hbEeiufQ
https://dl.doubtnut.com/l/_4Y8p04YPQeC6


Answer: A

Watch Video Solution

60. A white percipitate of AgCl dissolves in excess of 

A. III only

B. I, II, III

C. I, II

D. I only

Answer: B

Watch Video Solution

I)NH3(aq)  II)Na2S2O3  III)NaCn

61. In context of the lanthanoids, which of the following statement is not

correct?

https://dl.doubtnut.com/l/_4Y8p04YPQeC6
https://dl.doubtnut.com/l/_GSg3MtEwxJAm
https://dl.doubtnut.com/l/_nuvYtER1YJyx


A. Availability of 4f electrons results in the formation of compounds in

+4 state of all the members of the series

B. There is a gradual decrease in the radii of the members with

increasing atomic number in the series

C. All the members exhibit +3 oxidation state

D. Because of similar properties the separation of lanthanoids is not

easy

Answer: A

Watch Video Solution

62. Properties common to the elements manganese, iron, cobalt, nickel

nad copper include the ready formation by them all of 

(I) coloured ions in aqueous solution 

(II)oxides of nitrogen are formed on reaction with concentrated  


(III) chlorides of formula 

HNO3

MCl2 and MCl3

https://dl.doubtnut.com/l/_nuvYtER1YJyx
https://dl.doubtnut.com/l/_ft4yJJX82JdN


A. I, II, III

B. I, II

C. II, III

D. I only

Answer: B

Watch Video Solution

63. Which of the following process is not associated with steel making?

A. Bessemer process

B. Open-Hearth process

C. Kaldo process

D. Auto-oxidation

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ft4yJJX82JdN
https://dl.doubtnut.com/l/_3XdFklm3koOq


64. Oxygen in absorbed by molten Ag, which is evolved on cooling and the

silver particles are scattered, this phenomenon is known as:

A. silvering of mirror

B. spitting of silver

C. frosting of silver

D. hairing of silver

Answer: B

Watch Video Solution

65. Which of the following statements regarding copper salts is not true?

A. Copper(I) disproportionates to copper and copper (II) ion in

aqueous solution

https://dl.doubtnut.com/l/_3XdFklm3koOq
https://dl.doubtnut.com/l/_AgKszD0jYXoc
https://dl.doubtnut.com/l/_9EZNwJdwVEdy


B. Copper(I) can be stabilised by the formation of insoluble complex

compounds such as 

C. Copper(II) oxide is red powder

D. The water of crystallization of copper sulphate is five

Answer: C::D

Watch Video Solution

CuCl−
2 and Cu(CN) −

2

66. Zinc(II) ion on reaction with NaOH first give a white precipitate which

dissolves in excess of NaOH due to the formation of :

A. 

B. 

C. 

D. 

Answer: C

ZnO

Zn(OH)2

[Zn(OH)4]
2 −

[Zn(H2O)4]
2 −

https://dl.doubtnut.com/l/_9EZNwJdwVEdy
https://dl.doubtnut.com/l/_ONiuBhCgqsaa


Watch Video Solution

67. The conversion of pig iron to steel frequently requires the addition of:

(I) oxygen or iron oxide (II) transition elements (III)inner transition

elements (IV)silica

A. I, II, III

B. I, II

C. II, III

D. I only

Answer: B

Watch Video Solution

68. Dilute nitric acid on reaction with silver liberates:

A. NO gas

https://dl.doubtnut.com/l/_ONiuBhCgqsaa
https://dl.doubtnut.com/l/_0vh8kZeN6vZ0
https://dl.doubtnut.com/l/_Wo8hb7VV2Zfh


B.  gas

C.  gas

D.  gas

Answer: A

Watch Video Solution

NO2

N2

O2

69. Which of the following double salt does not exists?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(NH4)2SO4 ⋅ CuSO4 ⋅ 6H2O

(NH4)2SO4 ⋅ FeSO4 ⋅ 6H2O

(NH4)2SO4 ⋅ ZnSO4 ⋅ 6H2O

(NH4)2SO4 ⋅ NiSO4 ⋅ 6H2O

https://dl.doubtnut.com/l/_Wo8hb7VV2Zfh
https://dl.doubtnut.com/l/_Vl0Nx4ITkYjE
https://dl.doubtnut.com/l/_XMm640wIAEhr


70. When steam is passed over red hot iron, the substance formed are:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Fe2O3 + H2

H2 + FeO

Fe3O4 + H2

Fe3O4 + H2

71. The oxoanion which contains all equivalent  bond is: 


(I)  (II)  (III)

A. III only

B. I, II, III

C. I, II

D. I only

M − O

CrO
2 −
4 MnO

−
4 Cr2O

2 −
7

https://dl.doubtnut.com/l/_XMm640wIAEhr
https://dl.doubtnut.com/l/_5AIoUT6NeILW


Answer: C

Watch Video Solution

72. In the extraction of silver by Mac-arther cyanide process, a small of

 is also added as a flux. The function of  is:

A. to oxidise Ag in the native form to 

B. to oxidise lead and zinc impurities

C. to form a complec with  which is then reduced to metallic

silver by using zinc

D. to oxidise the sulphur in the argentite ore to  which escapes

from the reaction

Answer: B

Watch Video Solution

KNO3 KNO3

Ag+

Ag+

SO2

https://dl.doubtnut.com/l/_5AIoUT6NeILW
https://dl.doubtnut.com/l/_om8dkitfebem
https://dl.doubtnut.com/l/_MLJtdUbQFIez


73.  


Which of the following statement is true for the compounds [X], [Y] and

[Z]?

A. In all three compounds, the chromium is in +6 oxidation state

B. [Z] is a deep blue-voilet coloured compound which decomposes

rapidly in aqueous solution into  and dioxygen

C. Saturated solution of [Y] gives bright orange compound, chromic

anhydride, with concentrated 

D. All of these

Answer: D

Watch Video Solution

FeCr2O4 + Na2CO3 + O2

Fusion
−−−→ [X]

H +

−−−−−→
H2O

[Y ]
H2O/H +

−−−−−→ [Z]

Cr3 +

H2SO4

74.  


Then final products N and O are respectively.

CuSO4(aq)
KCN ( ↑⏐ )

−−−−−−→ M( ⏐↓ )
Excess

−−−−−→
KCN

N + O

https://dl.doubtnut.com/l/_MLJtdUbQFIez
https://dl.doubtnut.com/l/_88HEbR0q1y3s


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Cu(CN)4]
3 −

, (CN)2

CuCN, (CN)2

[Cu(CN)4]
2 −

, (CN)2

Cu(CN)2, K2S

75. Consider the following transformation : 

 


Then  can be:

A. 

B. 

C. 

D. 

2CuX2

Room temperature
−−−−−−−−−−→ 2CuX + X2( ↑⏐ )

X −

F − , Br−

Cl− , Br−

CN − , I −

Cl− , F −

https://dl.doubtnut.com/l/_88HEbR0q1y3s
https://dl.doubtnut.com/l/_wD3ypcgbOboA


Answer: C

Watch Video Solution

76. Acidified permanganate solution does not oxidise:

A.  (aq.)

B.  (aq.)

C.  (aq.)

D. (aq.)

Answer: C::D

Watch Video Solution

C2O
2 −
4

NO−
3

S2 −

F −

77. Which of the following salt on heating with solid  and Conc. 

 , orange red vapours are evolved which turn NaOH solution

yellow.

K2Cr2O7

H2SO4

https://dl.doubtnut.com/l/_wD3ypcgbOboA
https://dl.doubtnut.com/l/_kPrryroI2nQ7
https://dl.doubtnut.com/l/_rbNo5tH5moCU


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NaBr

NaCl

NaNO3

NaI

78. Which of the following is called Wilkinson's catalyst?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Ph3P )3RhCl]

TiCl4 + (C2H5)3Al

(C2H5)4Pb

[PtCl2(NH3)2]

https://dl.doubtnut.com/l/_rbNo5tH5moCU
https://dl.doubtnut.com/l/_itZx6xqePYlw


79. Which of the following is not a consequence of the Lanthanoid

contraction?

A. 5d series elements have a higher  than 3d or 4d series

B. Zr and Hf have a comparable size

C. Zr and Hf occurs together in the earth crust in their minerals

D. High density of the sixth period elements

Answer: D

Watch Video Solution

IE1

80. A metal M and its compound can give the following observable

changes in a consequence of reactions

https://dl.doubtnut.com/l/_itZx6xqePYlw
https://dl.doubtnut.com/l/_dxGdIc7shW6r
https://dl.doubtnut.com/l/_XTEKKkoutLiP


A. Mg

B. Pb

C. Zn

D. Sn

Answer: C

Watch Video Solution

81. Sodium thiosulphate is used to remove the unexposed AgBr from

photographic films by forming a complex. In this complex of silver, the

coordination number of silver is:

A. 2

https://dl.doubtnut.com/l/_XTEKKkoutLiP
https://dl.doubtnut.com/l/_kZWTbA4JhGk8


B. 

C. 

D. 

Answer: B

Watch Video Solution

4

6

8

82. Each of the following ion contains vanadium the +V oxidation state

except:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

VO+
2

V (OH)
+
4

VO2 +

[VO3OH]2 −

https://dl.doubtnut.com/l/_kZWTbA4JhGk8
https://dl.doubtnut.com/l/_776khZ50iGED


83. Mercury (II) chloride solution on reaction with gaseous ammonia

forms:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Hg(NH3)Cl ⋅ HgO

Hg(NH3)2Cl2

[Hg(NH3)2]Cl2

[Hg(NH3)2]Cl

84. Copper sulphate is prepared by blowing a current of air through

copper scrap and dilute  Dilute  is also added:

A. to oxidize copper to  which then form  with dilute 

H2SO4. HNO3

Cu2 + CuSO4

H2SO4

https://dl.doubtnut.com/l/_776khZ50iGED
https://dl.doubtnut.com/l/_MNwJ49bNzfiz
https://dl.doubtnut.com/l/_RcBHCw8eEcSV


B. to oxidise  to ion (III) sulphate, which remains in solution after

crystallisation of 

C. to speed up the ionisation of  to give  ions

D. Which combines with  to give a very strong oxidising

mixture and oxidise Cu to 

Answer: A

Watch Video Solution

Fe2 +

CuSO4

H2SO4 SO
2 −
4

H2SO4

Cu2 +

85. Which two sets of reactants best represent the amphoteric character

of ? 


Set1:  

Set 2:  

Set 3:  

Set 4 : 

A. 1 and 2

Zn(OH)2

Zn(OH)2(s) and OH − (aq)

Zn(OH)2(s) and H2O(l)

Zn(OH)2(s) and H + (aq)

Zn(OH)2(s) and NH3(aq)

https://dl.doubtnut.com/l/_RcBHCw8eEcSV
https://dl.doubtnut.com/l/_khR44rJhvBT8


B. 1 and 3

C. 2 and 4

D. 3 and 4

Answer: B

Watch Video Solution

86. The false statement about iron (III) hydroxide is that:

A. it is weaker base than 

B. with concentrated KOH, it forms a complex 

C. it gradually losses water and transfer into 

D. it exhibits amphoteric properties with its predominating acidic

nature

Answer: B::D

Watch Video Solution

Fe(OH)2

K3[Fe(OH)6]

Fe2O3

https://dl.doubtnut.com/l/_khR44rJhvBT8
https://dl.doubtnut.com/l/_7FzROOD1KUk7


87.  


 


 

 


Identify (W) to (Z).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AgNO3

Δ
−−→ (W) + (X) + O2

(X) + H2O → HNO2 + HNO3

(W) + HNO3 → Y + NO + H2O

(Y ) + Na2S2O3(excess) → (Z) + NaNO3

W = Ag, X = N2O, Y = AgNO3, Z = Na2[Ag(S2O3)2]

W = Ag2O, X = NO, Y = AgNO3, Z = Na3[Ag(S2O3)2]

W = Ag, X = NO2, Y = AgNO3, Z = Na3[Ag(S2O3)2]

W = Ag2O, X = N2, Y = AgNO3, Z = Na[Ag(S2O3)2]

88. The oxidation state of copper changes when aqueous copper (II) ions

react with: 

https://dl.doubtnut.com/l/_7FzROOD1KUk7
https://dl.doubtnut.com/l/_UvLySwUl1muU
https://dl.doubtnut.com/l/_3LGlFVv1g0D8


(I)  (II)  (III)

A. I, II, III

B. II only

C. II, III

D. I only

Answer: C

Watch Video Solution

NaOH(aq) Fe(s) KI(aq)

89. The aqueous solution of transition metal salt changes colour from

pink to blue, when concentrated hydrochloric acid is added to it. The

changes in colour is due to:

A. evolution of hydrogen that changes the oxidation state of the

metal ion

https://dl.doubtnut.com/l/_3LGlFVv1g0D8
https://dl.doubtnut.com/l/_rWwUFRUpXFh2


B. change in the coordination number of the metal ion from 6 to 4

and formation of new species in solution

C. formation of a coordination complex of the metal ion with

hydrochloric acid

D. protonation of the metal ion

Answer: B

Watch Video Solution

90. Limestone is present in the blast furnance production of iron in order

to: 

(I) provide a source of CaO 

(II) remove some impurities 

(III) supply 

A. I, II, III

B. I, II

CO2

https://dl.doubtnut.com/l/_rWwUFRUpXFh2
https://dl.doubtnut.com/l/_aE5UlXxhPHgW


C. II, III

D. I only

Answer: B

Watch Video Solution

91. Paramagnesim is not exhibited by:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CuSO4 ⋅ 5H2O

CuCl2 ⋅ 5H2O

CuI

NiSO4 ⋅ 4H2O

https://dl.doubtnut.com/l/_aE5UlXxhPHgW
https://dl.doubtnut.com/l/_b8MwRsn6y66q


92. Which of the comparison Zn, Cd, Hg is/are incorrect? 

(I)  is ionic whereas  is covalent 


(II) Zn and Cd dissolves in dilute acid HCl liberating  but Hg can not 


(III) Zn and cd forming with ppt. of  but Hg

forms coloured ppt. of . 


(IV) All form  type ion

A. Only III

B. I, III, IV

C. I and III

D. All of these

Answer: B

Watch Video Solution

ZnCl2 CdCl2 and HgCl2

H2

Zn(OH)2 and Cd(OH)2

Hg(OH)2

A2 +
2

93. The oxoanion in which the oxidation state of the central atom is same

as its group number in the periodic table is:

https://dl.doubtnut.com/l/_BThnJG97al8h
https://dl.doubtnut.com/l/_FhhAR27mwYj5


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SO2 −
2

VO−
2

MnO
2 −
4

Cr2O
2 −
7

94. Which compound is formed when iron reacts with carbon?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeC2

Fe3C

FeC3

Fe2C

https://dl.doubtnut.com/l/_FhhAR27mwYj5
https://dl.doubtnut.com/l/_niJSsuZYXVN3


95. Which of the following compound can produce Riemann's green with

 solution?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

Co(NO3)2

ZnO

3Zn(OH)2 ⋅ ZnCO3

ZnSO4

96. Which of the following electronic configuration is associated with the

highest stable oxidation state?

A. 

B. 

[Ar]3d14s2

[Ar]3d54s1

https://dl.doubtnut.com/l/_niJSsuZYXVN3
https://dl.doubtnut.com/l/_PouksgHXys0m
https://dl.doubtnut.com/l/_lCftDcYkVjAe


C. 

D. 

Answer: C

Watch Video Solution

[Ar]3d54s2

[Ar]3d64s2

97. A blood red colour is obtained when ferric chloride solution reacts

with:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KCN

KSCN

K4[Fe(CN)6]

K3[Fe(CN)6]

https://dl.doubtnut.com/l/_lCftDcYkVjAe
https://dl.doubtnut.com/l/_wkg34YcO4e3k
https://dl.doubtnut.com/l/_EuYfAWlMoqg3


98. Metal-Metal bonding is more frequent in 4d or 5d series than in 3d

series due to

A. their greater enthelpies of atomisation

B. the larg size of the orbitals which participates in the metal-metal

bond formation

C. their ability to involve both ns and (n-1)d electrons in the bond

formation

D. the comparable size of 4d and 5d series elements

Answer: A

Watch Video Solution

99. The maximum and minimum m.p. of 1st transition and 2nd transition

series respectively are obtained with:

A. Cr and Zn

https://dl.doubtnut.com/l/_EuYfAWlMoqg3
https://dl.doubtnut.com/l/_VK83T1FcmYih


B. Cr and Cd

C. Cr and Hg

D. Mo and Cd

Answer: B

Watch Video Solution

100. When an aqueous solution of copper (II) sulphate is saturated with

ammonia, the blue compound crystallises on evaporation. The formula of

this blue compound is:

A.  (square planar)

B. (Tetrahedral)

C.  (Octahedral)

D. (Octahedral)

Answer: A

[Cu(NH3)4]SO4 ⋅ H2O

[Cu(NH3)4]SO4

[Cu(NH3)6]SO4

[Cu(SO2)(NH3)5]

https://dl.doubtnut.com/l/_VK83T1FcmYih
https://dl.doubtnut.com/l/_Ct8SR78vLlng


Watch Video Solution

101. In the extraction of copper, metal is formed in the Bassemer

converter due to reaction :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2Cu2O → 4Cu + O2

2CuO + CuS → 3Cu + SO2

Cu2S + 2Cu2O → 6Cu + SO2

Fe + Cu2O → FeO + 2Cu

102. The compound in which nickel has the lower oxidation states is :

A. 

B. 

Ni(CO)4

(CH3COO)2Ni

https://dl.doubtnut.com/l/_Ct8SR78vLlng
https://dl.doubtnut.com/l/_JnVrr2uVYJYa
https://dl.doubtnut.com/l/_4dN2OmRFHzmF


C. 

D. 

Answer: A

Watch Video Solution

NiO

NiCl2(PPh3)2

103. A metal M which is not affected by strong acids like conc. ,

conc.  and conc. Solution of alkalies like 

, which finds use for tanning in photography? The metal M is:

A. Ag

B. Hg

C. Au

D. Cu

Answer: C

Watch Video Solution

HNO3

H2SO4 NaOH, KOH and MCl3

https://dl.doubtnut.com/l/_4dN2OmRFHzmF
https://dl.doubtnut.com/l/_wf1t56o9rjTm


104. Copper (II) ions gives reddish brown precipitate with potassium

ferrocyanide. The formula of the precipitate is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu4[fe(CN)6

Cu2[Fe(CN)6]

Cu3[Fe(CN)6]

Cu3[Fe(CN)6]
2

105. Which of the following electronic configuration is associated with the

highest magnetic moment?

A. 

B. 

[Ar]3d8

[Ar]3d3

https://dl.doubtnut.com/l/_wf1t56o9rjTm
https://dl.doubtnut.com/l/_xwft2IQKf6VD
https://dl.doubtnut.com/l/_Vw2KvC5mCoZs


C. 

D. 

Answer: C

Watch Video Solution

[Ar]3d6

[Ar]3d7

106. The correct statement about iron includes 

(I) the highest oxidation state of iron is +6 in  


(II) that the iron shows +2 oxidation state with six electrons in the 3d

orbitals 

(III) the common oxidation state of iron is +3 with five unpaired electrons

in the 3d orbital

A. I, II, III

B. I, II

C. II, III

D. I only

K2FeO4

https://dl.doubtnut.com/l/_Vw2KvC5mCoZs
https://dl.doubtnut.com/l/_mzwatLtTLp7r


Answer: A

Watch Video Solution

107. Interstitial compounds are formed when small atoms are trapped

inside the crystal lattice of metals. Which of the following is not the

characteristic properties of interstitial compounds? 

I. They have high melting points in comparison to pure metals. 

II. They are very hard. 

III. They retain metallic conductivity. 

IV. They are chemically very reactive.

A. I, II, III

B. I, III

C. II, IV

D. IV only

Answer: A

h id l i

https://dl.doubtnut.com/l/_mzwatLtTLp7r
https://dl.doubtnut.com/l/_9s1CQLvQidaH


Watch Video Solution

108. Technetium, the element below manganese in the Periodic Table,

would be expected to have high values for its: 

(I) melting point (II)boiling point (III)density

A. I, II, III

B. I, II

C. II, IV

D. IV only

Answer: A

Watch Video Solution

109. All Zn(+II) compounds are white because:

A.  has a  configuration and the d-subshell is fullZn2 + d10

https://dl.doubtnut.com/l/_9s1CQLvQidaH
https://dl.doubtnut.com/l/_0KJqqj78DCWa
https://dl.doubtnut.com/l/_8ZW6bDuJvYkL


B.  shows d-d transition

C.  has no electron in the 4s-subshell

D. Zn is not a transition element

Answer: A

Watch Video Solution

Zn2 +

Zn2 +

110. Identify the wrong statement regarding copper sulphate 

A. It reacts with KI to give 

B. It reacts with KCl to give 

C. It's tartarate complex reacts with NaOH and glucose to give 

D. It gives CuO on strong heating in air

Answer: B

Watch Video Solution

:

I2

Cl2

Cu2O

https://dl.doubtnut.com/l/_8ZW6bDuJvYkL
https://dl.doubtnut.com/l/_qNOLsj4YYNZR
https://dl.doubtnut.com/l/_ZDGBO7wNn797


111. The transition metals exhibit higher enthalphies of atomisation due

to :

A. their ability to show variable oxidation states

B. the presence of incompletely filled d-subshell

C. their ability to exist in the solid state with unpaired electrons

D. strong interatomic interaction arises because of having large

number of unpaired electrons in their atoms

Answer: D

Watch Video Solution

112. Which of the following are correct about Zn,Cd,Hg 

I) They exhibit enthalpy of atomisation as the d-subshell is full 

II) Zn,Cd do not show variable oxidation states, Hg can show +1,+2 states 

III) Compounds of  are paramagnetic 

IV) They are soft metals

Zn, Cd, Hg

https://dl.doubtnut.com/l/_ZDGBO7wNn797
https://dl.doubtnut.com/l/_Et1ju7AdwbPH


A. I, II, III

B. I, III

C. II, IV

D. IV only

Answer: C

Watch Video Solution

113. When mercury (II) chloride is treated with excess of stannous

chloride, the products obtained are :

A. liquid Hg and 

B. 

C. 

D. liquid Hg and 

Answer: A

SnCl4

Hg2Cl2 and SnCl4

Hg2Cl2 and [SnCl4]2 −

[SnCl4]2 −

https://dl.doubtnut.com/l/_Et1ju7AdwbPH
https://dl.doubtnut.com/l/_DQzLpIbHD0iC


Watch Video Solution

114. Which of the following is NOT a characteristic of the transition

elements in the series from scandium to zinc?

A. The formation of coloured cations

B. The presence of at least one unpaired electron in a d-orbital of a

cation

C. The ability to form complex ions

D. The possession of an oxidation state of +I

Answer: D

Watch Video Solution

115. Spiegeleisen is an alloy of

A. Cu + Zn + Ni

https://dl.doubtnut.com/l/_DQzLpIbHD0iC
https://dl.doubtnut.com/l/_UKycALYuY1bu
https://dl.doubtnut.com/l/_hfV4MTrwWFu7


B. 

C. 

D. 

Answer: C

Watch Video Solution

Ni + Cr

Mn + Fe + C

Fe + Cr + Ni

116. The treatment of zinc with very dilute nitric acid produces:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NO

N2O

NO2

NH
+

4

https://dl.doubtnut.com/l/_hfV4MTrwWFu7
https://dl.doubtnut.com/l/_QLkQtMqAlmcz
https://dl.doubtnut.com/l/_JT8hG3jSEk4m


117. Sodium chromate,  is made commerically by :

A. heating mixture of 

B. heating mixture of chromate ore and sodium carbonate in the

presence of oxygen

C. heating sodium dichromate with sodium carbonate

D. reacting NaOH with chromic acid

Answer: B

Watch Video Solution

Na2CrO4

Cr2O3 and Na2CO3

118. Anhydrous mercurous chloride can be prepared by:

A. the reduction of  with  solution

B. the reaction of  with Hg

C. the reaction of Hg with concentrated HCl

HgCl2 SnCl2

HgCl2

https://dl.doubtnut.com/l/_JT8hG3jSEk4m
https://dl.doubtnut.com/l/_BgM6BFqStVHV


D. None of these

Answer: B

Watch Video Solution

119. When aqueous sodium hydroxide is added to an aqueous solution of

chromium (III) ions, a green blue precipitate is first formed which re-

dissolves to give a greeen solution. This green colour is due to :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Cr(H2O)6]
3 +

CrO
2 −
4

[Cr(OH)4]
−

[Cr(OH)3(H2O)3]

https://dl.doubtnut.com/l/_BgM6BFqStVHV
https://dl.doubtnut.com/l/_V1oI7rSvKTEY
https://dl.doubtnut.com/l/_uhapBVRLoD57


120. HgCl is a covalent compound, sparingly soluble in water, the

solubility increase by the addition of chloride ions due to:

A. common ion effect

B. formation of complex 

C. weakening of Hg-Cl bonds

D. strong ion-dipole forces

Answer: B

Watch Video Solution

[HgCl4]2 −

121. Amongst  the colourless

species are:

A. 

B. 

C. 

TiF 2 −
6 , CoF 3 −

6 , Cu2Cl2 and NiCl
2 −
4

CoF 3 −
6 and NiCl

2 −
4

TiF 2 −
6 and CoF 3 −

6

Cu2Cl2 and NiCl
2 −
4

https://dl.doubtnut.com/l/_uhapBVRLoD57
https://dl.doubtnut.com/l/_PCW7X13ORSuj


D. 

Answer: D

Watch Video Solution

TiF 2 −
6 and Cu2Cl2

122. Which of the following complex ion has a magnetic moment same as

?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Cr(H2O)6]
3 +

[Mn(H2O)6]
4 +

[Mn(H2O)6]
3 +

[Fe(H2O)6]
3 +

[Cu(H3N)4]
2 +

https://dl.doubtnut.com/l/_PCW7X13ORSuj
https://dl.doubtnut.com/l/_zuvdOYdqJxZp


123. Silver nitrate solution is kept in brown bottles in laboratory because:

A. it reacts with ordinary bottles

B. brown bottles cut the passage of light through

C. brown bottles do not react with it

D. ordinary bottles catalyst its decomposition

Answer: B

Watch Video Solution

124. Copper is very slowly oxidised on the surface in moist air, giving a

green coating of vergiris is :

A. 

B. 

C. 

D. 

Cu2O

CuCO3

Cu(CH3COO)2 ⋅ Cu(OH)2

CuSO4

https://dl.doubtnut.com/l/_Ft22OhdKYqXB
https://dl.doubtnut.com/l/_RfL2UcdZc5MW


Answer: C

Watch Video Solution

125.  is precipitated from Fe(II) solutions as a while solid turns

dark green and then brown due to the formation of:

A. 

B. Only 

C. 

D. 

Answer: C

Watch Video Solution

Fe(OH)2

Fe(OH)2 and Fe(OH)3

Fe(OH)3

Fe2O3 ⋅ (H2O)n

Fe2O3 ⋅ 2H2O

126. Pure  instead of air is used to oxidise the pig iron because:O2

https://dl.doubtnut.com/l/_RfL2UcdZc5MW
https://dl.doubtnut.com/l/_VZa8uaeLeCAh
https://dl.doubtnut.com/l/_j0sM71s4DAFZ


A. Molten metal took up small amount of nitrogen which makes the

steel brittle

B. Air is not as efficient to oxidise all the impurities to their respective

oxides

C. Air contains moisture and will precipitate iron as 

D. Iron reacts with air to 

Answer: A

Watch Video Solution

Fe2O3

FeCO3

127. Give the correct order of initials T of F for following statements. Use T

if statements is true and F if it is false. 

 Sulphide reacts with  to form a purple coloured

compound  . In the reaction, the oxidation state

of iron changes. 

 compounds are relatively more stable than 

compounds 

I) Na2[Fe(CN)5(NO)]

Na4[Fe(CN)5(NOS)]

II)Pt(IV ) Ni(IV )

https://dl.doubtnut.com/l/_j0sM71s4DAFZ
https://dl.doubtnut.com/l/_RJxaa1dOgxXV


 The welding of magnesium can be done in the atmosphere of

Helium. 

 on hydrolysis will give 

A. FFTT

B. FTTT

C. TFTF

D. TFTT

Answer: B

Watch Video Solution

III)

IV )LiAlH4 H2

128.  


pink 


Which of the following is correct?

A. X=black, , Y=Blue, , Z=

B. X=Green, , Y=Yellow, , Z=

(X) + K2CO3 + Air
heat

−−→ (Y )

(Y ) + Cl2 → (Z)

MnO2 CrO4 KMnO4

Cr2O3 K2CrO4 K2Cr2O7

https://dl.doubtnut.com/l/_RJxaa1dOgxXV
https://dl.doubtnut.com/l/_piTwWgRFLavD


C. X=black, , Y=green, , Z=

D. X=black, , Y=colourless, , Z=

Answer: C

Watch Video Solution

MnO2 K2MnO4 KMnO4

Bi2O3 KBiO2 KBiO3

129. Sodium thiosulphate,  is used in photography to:

A. Reduce the silver bromide to metallic silver

B. Convert the metallic silver to silver salt

C. Reduce undecomposed AgBr as soluble silver thiosulphate complex

D. Remove reduced silver

Answer: C

Watch Video Solution

Na2S2O3 ⋅ 5H2O

https://dl.doubtnut.com/l/_piTwWgRFLavD
https://dl.doubtnut.com/l/_xYClFrOa1zPU


130. The advantage(s) of using  rather than air in the steel industry

is(are) 

(I) there is a faster conversion , so a given plant can produce more steel in

a day. 

(II) larger quantities can be handled 

(III) it gives a pure product and the surface is free from nitrides

A. I only

B. II and III only

C. II only

D. I, II and III

Answer: D

Watch Video Solution

O2

131. When  comes in contact with skin, it leaves a black stain. This

is because of:

AgNO3

https://dl.doubtnut.com/l/_DXuOXE44JYa1
https://dl.doubtnut.com/l/_Wp9kZalPXoWy


A.  produced by hydrolysis of 

B.  produced by hydrolysis of 

C. Its reduction of silver

D. Its oxidation to silver oxide

Answer: C

Watch Video Solution

HNO3 AgNO3

AgOH AgNO3

132. The aqueous solution of copper(II) sulphate is slowly hydrolysed

forming basic copper sulphate whose chemical composition is:

A. 

B. 

C. 

D. 

Answer: A

CuSO4 ⋅ Cu(OH)2

CuSO4 ⋅ CuO

CuSO4 ⋅ Cu(OH)2 ⋅ CuO

[Cu(H2O)4]SO4 ⋅ H2O

https://dl.doubtnut.com/l/_Wp9kZalPXoWy
https://dl.doubtnut.com/l/_jvoco1ltMEUm


Watch Video Solution

133. Passivity of iron is due to formation of:

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

Fe2O3

Fe3O4

FeSO4

134. Zinc carbonate is precipitated from zinc sulphate solution by the

addition of:

A. 

B. 

Na2CO3

CaCO3

https://dl.doubtnut.com/l/_jvoco1ltMEUm
https://dl.doubtnut.com/l/_mlghhJkXKszf
https://dl.doubtnut.com/l/_a0SZe8HTblOs


C. 

D. 

Answer: D

Watch Video Solution

MgCO3

NaHCO3

135. Mark the correct statements:

A. Hg forms an amalgam with iron

B. Hg vapour is non-poisonous

C. Hg is mono atomic and monovalent in mercurous compound

D. Oxysalts of mercury are thermally unstable

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_a0SZe8HTblOs
https://dl.doubtnut.com/l/_YX18uTjgN2n0


136. Mercury is a liquid metal because

A. Very high ionisation energy and weak metallic bond

B. Low ionisation potential

C. High atomic weight

D. High vapour pressure

Answer: A

Watch Video Solution

137. A white precipitate of AgCl dissolves in excess of : 

(I) (aq) (II)  (III)NaCN

A. III only

B. I, II, III

C. I, II

D. I only

NH3 Na2S2O3

https://dl.doubtnut.com/l/_YqTIM2I1QKpa
https://dl.doubtnut.com/l/_SWpUBS0Di6W7


Answer: B

Watch Video Solution

138. In context of the lanthanoids, which of the following statement is not

correct?

A. Availability of 4f electrons results in the formation of compounds in

+4 state of all the members of the series

B. There is a gradual decrease in the radii of the members with

increasing atomic number in the series

C. All the members exhibit +3 oxidation state

D. Because of similar properties the separation of lanthanoids is not

easy

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SWpUBS0Di6W7
https://dl.doubtnut.com/l/_UVe6HCPaDzN8


139. Properties common to the elements manganese, iron, cobalt, nickel

nad copper include the ready formation by them all of 

(I) coloured ions in aqueous solution 

(II)oxides of nitrogen are formed on reaction with concentrated  


(III) chlorides of formula 

A. I, II, III

B. I, II

C. II, III

D. I only

Answer: B

Watch Video Solution

HNO3

MCl2 and MCl3

140. Which of the following process is not associated with steel making?

A. Bessemer process

https://dl.doubtnut.com/l/_yriaBfLiuSIw
https://dl.doubtnut.com/l/_h5IRUkwTVfbh


B. Open-Hearth process

C. Kaldo process

D. Auto-oxidation

Answer: D

Watch Video Solution

141. Oxygen in absorbed by molten Ag, which is evolved on cooling and

the silver particles are scattered, this phenomenon is known as:

A. silvering of mirror

B. spitting of silver

C. frosting of silver

D. hairing of silver

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_h5IRUkwTVfbh
https://dl.doubtnut.com/l/_3BQxQ2KZZ5Gf


142. Which of the following statements regarding copper salts is not

true?

A. Copper(I) disproportionates to copper and copper (II) ion in

aqueous solution

B. Copper(I) can be stabilised by the formation of insoluble complex

compounds such as 

C. Copper(II) oxide is red powder

D. The water of crystallization of copper sulphate is five

Answer: C

Watch Video Solution

CuCl−
2 and Cu(CN) −

2

143. Zinc(II) ion on reaction with NaOH first give a white precipitate which

dissolves in excess of NaOH due to the formation of :

https://dl.doubtnut.com/l/_3BQxQ2KZZ5Gf
https://dl.doubtnut.com/l/_mwG1u23Tl98A
https://dl.doubtnut.com/l/_Dza2ZecoMIZq


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ZnO

Zn(OH)2

[Zn(OH)4]
2 −

[Zn(H2O)4]
2 −

144. The conversion of pig iron to steel frequently requires the addition

of: 

(I) oxygen or iron oxide (II) transition elements (III)inner transition

elements (IV)silica

A. I, II, III

B. I, II

C. II, III

D. I only

https://dl.doubtnut.com/l/_Dza2ZecoMIZq
https://dl.doubtnut.com/l/_SWteyLRDDIaE


Answer: B

Watch Video Solution

145. Dilute nitric acid on reaction with silver liberates:

A. NO gas

B.  gas

C.  gas

D.  gas

Answer: A

Watch Video Solution

NO2

N2

O2

146. Which of the following double salt does not exists?

A. (NH4)2SO4 ⋅ CuSO4 ⋅ 6H2O

https://dl.doubtnut.com/l/_SWteyLRDDIaE
https://dl.doubtnut.com/l/_HZnv5NLqBLSv
https://dl.doubtnut.com/l/_GKhBkDFcO261


B. 

C. 

D. 

Answer: A

Watch Video Solution

(NH4)2SO4 ⋅ FeSO4 ⋅ 6H2O

(NH4)2SO4 ⋅ ZmSO4 ⋅ 6H2O

(NH4)2SO4 ⋅ NiSO4 ⋅ 6H2O

147. When steam is passed over red hot iron, the substance formed are:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Fe2O3 + H2

H2 + FeO

Fe3O4 + H2

Fe3O4 + H2

https://dl.doubtnut.com/l/_GKhBkDFcO261
https://dl.doubtnut.com/l/_d8CDB8vGhBvJ
https://dl.doubtnut.com/l/_7pIZobXFDHRc


148. The oxoanion which contains all equivalent  bond is: 


(I)  (II)  (III)

A. III only

B. I, II, III

C. I, II

D. I only

Answer: C

Watch Video Solution

M − O

CrO
2 −
4 MnO

−
4 Cr2O

2 −
7

149. In the extraction of silver by Mac-arther cyanide process, a small of

 is also added as a flux. The function of  is:

A. to oxidise Ag in the native form to 

B. to oxidise lead and zinc impurities

KNO3 KNO3

Ag+

https://dl.doubtnut.com/l/_7pIZobXFDHRc
https://dl.doubtnut.com/l/_OQ4mT4I72pK4


C. to form a complec with  which is then reduced to metallic

silver by using zinc

D. to oxidise the sulphur in the argentite ore to  which escapes

from the reaction

Answer: B

Watch Video Solution

Ag+

SO2

150.  


Which of the following statement is true for the compounds [X], [Y] and

[Z]?

A. In all three compounds, the chromium is in +6 oxidation state

B. [Z] is a deep blue-voilet coloured compound which decomposes

rapidly in aqueous solution into  and dioxygen

FeCr2O4 + Na2CO3 + O2

Fusion
−−−→ [X]

H +

−−−−−→
H2O

[Y ]
H2O/H +

−−−−−→ [Z]

Cr3 +

https://dl.doubtnut.com/l/_OQ4mT4I72pK4
https://dl.doubtnut.com/l/_EGvREQsR490L


C. Saturated solution of [Y] gives bright orange compound, chromic

anhydride, with concentrated 

D. All of these

Answer: D

Watch Video Solution

H2SO4

151.  


Then final products N and O are respectively.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CuSO4(aq)
KCN ( ↑⏐ )

−−−−−−→ M( ⏐↓ )
Excess

−−−−−→
KCN

N + O

[Cu(CN)
4
]

3 −
, (CN)

2

CuCN, (CN)
2

[Cu(CN)
4
]

2 −
, (CN)

2

Cu(CN)
2
, K2S

https://dl.doubtnut.com/l/_EGvREQsR490L
https://dl.doubtnut.com/l/_xzRV0YVzCtv8


152. Consider the following transformation : 

 


Then  can be:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2CuX2

Room temperature
−−−−−−−−−−→ 2CuX + X2( ↑⏐ )

X −

F − , Br−

Cl− , Br−

CN − , I −

Cl− , F −

153. Acidified permanganate solution does not oxidise:

A.  (aq.)

B.  (aq.)

C2O
2 −
4

NO−
3

https://dl.doubtnut.com/l/_xzRV0YVzCtv8
https://dl.doubtnut.com/l/_EeGBNK04oQLc
https://dl.doubtnut.com/l/_ibivdeALQfUm


C.  (aq.)

D. (aq.)

Answer: C::D

View Text Solution

S2 −

F −

154. Which of the following soled salt on heating with solid 

and conc.  orange red vapours are evolved which turn aquous

NaOH solution yellow?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K2Cr2O7

H2SO4

NaBr

NaCl

NaNO3

NaI

https://dl.doubtnut.com/l/_ibivdeALQfUm
https://dl.doubtnut.com/l/_jXTlWmNQJX5P


Level 3

1. In salts of polyatomic anion, as polarising power of cation increase,

thermal stability of the salt decrease and decomposed species may

further undergo redox reaction 

Q. Which of the followinng species undergoes non-redox thermal

decomposition reaction on heating?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

FeSO4

SnSO4

H2C2O4

Na2HPO4

https://dl.doubtnut.com/l/_jXTlWmNQJX5P
https://dl.doubtnut.com/l/_3F6wmM0pyucu


2. In salts of polyatomic anion, as polarising power of cation increase,

thermal stability of the salt decrease and decomposed species may

further undergo redox reaction 

Q. Water soluble salt(x) was heated into three products A, B and C and B

and C are two different paramagnetic gases. A is red in hot condition,

then salt(x) is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Hg(NO3)2

FeC2O4

ZnSO4

Pb(NO3)2

3. Light green (compound 'A')  


(i)'D' and 'E' are two acidic gas. 

Δ
−−→ white Residue(B)

high

C
Temp.

+ D + E

https://dl.doubtnut.com/l/_TRV2BC5ZGUTT
https://dl.doubtnut.com/l/_UXMt6Y1HGsDb


(ii) 'D' is passed through  solution to give yellow ppt. 


(iii) 'E' is passed through water first and then  is passed, white

turbidity is obtained. 

(iv) A is water soluble and addition of  in it, yellow ppt. is obtained

but white ppt does not turn into grey on addition of excess solution of 'A'

Q. 'D' and 'E' are respectively.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HgCl2

H2S

HgCl2

SO2 and SO3

SO3 and SO2

SO2 and CO2

CO2 and CO

4. 

 'D' and 'E' are two acidic gases. 

Lightgreen(Compound'A' )
Δ

−−→ WhiteResidue' (B)'
High

−−−−−→
Temp

C + D + E

i)

https://dl.doubtnut.com/l/_UXMt6Y1HGsDb
https://dl.doubtnut.com/l/_A2QLmd4XHgOI


ii) 'D' is passed through  solution to give yellow pt. 


 'E' is passed through water first and then  is passed, white

turbidity is obtained. 

 A is water soluble and addition of  in it, white ppt is obtained

but white ppt does not turn into grey on addition of excess solution of 'A'.

Yellow ppt in the above observation is

A. Mercuric oxide

B. Basic mercury(II) sulphite

C. Basic mercury (II) sulphate

D. Mercuric iodine

Answer: C

Watch Video Solution

HgCl2

iii) H2S

iv) HgCl2

5. 

 'D' and 'E' are two acidic gases. 

Lightgreen(Compound'A' )
Δ

−−→ WhiteResidue' (B)'
High

−−−−−→
Temp

C + D + E

i)

https://dl.doubtnut.com/l/_A2QLmd4XHgOI
https://dl.doubtnut.com/l/_MugKroXfWAQL


ii) 'D' is passed through  solution to give yellow pt. 


 'E' is passed through water first and then  is passed, white

turbidity is obtained. 

 A is water soluble and addition of  in it, white ppt is obtained

but white ppt does not turn into grey on addition of excess solution of 'A'.

'C' is soluble in

A. dil. HCl

B. dil.

C. Conc.

D. Boiled conc. HCl

Answer: D

Watch Video Solution

HgCl2

iii) H2S

iv) HgCl2

H2SO4

CH3COOH

6. Light green (compound 'A')  


(i)'D' and 'E' are two acidic gas. 

(ii) 'D' is passed through  solution to give yellow ppt. 


Δ
−−→ white Residue(B)

high

C
Temp.

+ D + E

HgCl2

https://dl.doubtnut.com/l/_MugKroXfWAQL
https://dl.doubtnut.com/l/_jfMJpL9mHd97


(iii) 'E' is passed through water first and then  is passed, white

turbidity is obtained. 

(iv) A is water soluble and addition of  in it, yellow ppt. is obtained

but white ppt does not turn into grey on addition of excess solution of 'A'

Q. Yellow ppt in the above observation is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2S

HgCl2

0

2

7

5

7. Transition metal and their compounds are used as catalyst in industry

and in biological system. For example, in the Contact Process, vanadium

compounds in the +5 state  are used to oxidise  to 

: 


(V2O5 or VO−
3 ) SO2

SO3

https://dl.doubtnut.com/l/_jfMJpL9mHd97
https://dl.doubtnut.com/l/_GlvP7b5RiWaj


 


It is thought thta the actual oxidation process takes place in two stages.

In the first step,  in the presence of oxide ions converts  to .

At the same time,  is reduced to . 


 


In the second step,  is regenerated from  by oxygen: 

 


The overall process is, of curse, the sum of these two steps: 

 


Q. Catalytic activity in transition metals depends on:

A. Catalyst undergoes changes in oxidation state

B. Catalyst increase the rate constant

C. Catalyst is regenerated in its original form when the reactants form

the products

D. All are correct

Answer: D

Watch Video Solution

SO2 + O2

V2O5

−−→ SO3

1

2

V 5 + SO2 SO3

V 5 + V 4 +

2V 5 + + O2 − + SO2 → 2V 4 + + SO3

V 5 + V 4 +

2V 4 + + O2 → 2V 5 + + O2 −1

2

SO2 + O2 → SO3

1

2

https://dl.doubtnut.com/l/_GlvP7b5RiWaj


8. Transition metal and their compounds are used as catalyst in industry

and in biological system. For example, in the Contact Process, vanadium

compounds in the +5 state  are used to oxidise  to 

: 


 


It is thought thta the actual oxidation process takes place in two stages.

In the first step,  in the presence of oxide ions converts  to .

At the same time,  is reduced to . 


 


In the second step,  is regenerated from  by oxygen: 

 


The overall process is, of curse, the sum of these two steps: 

 


Q. Catalytic activity in transition metals depends on:

A. Their ability to exist in different oxidation states

B. The size of the metal atoms

(V2O5 or VO−
3 ) SO2

SO3

SO2 + O2

V2O5

−−→ SO3

1

2

V 5 + SO2 SO3

V 5 + V 4 +

2V 5 + + O2 − + SO2 → 2V 4 + + SO3

V 5 + V 4 +

2V 4 + + O2 → 2V 5 + + O2 −1

2

SO2 + O2 → SO3

1

2

https://dl.doubtnut.com/l/_GlvP7b5RiWaj
https://dl.doubtnut.com/l/_gcCj2qyOk6jR


C. The number of empty atomic orbitals available

D. None of these

Answer: A

Watch Video Solution

9.  is the most important oxide of manganese ,  occurs

natually as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to C. It is used in the

preparation of potassium permanaganate and in the productioon of 

gas. Over half million tonnes per year of  is used in dry batteries. 


Q. In the laboratory,  is made by:

A. heating Mn in 

B. oxidising  in air

C. electrolytic oxidation of 

MnO2 MnO2

Mn3O4 530∘

Cl2

MnO2

MnO2

O2

Mn2 +

MnSO4

https://dl.doubtnut.com/l/_gcCj2qyOk6jR
https://dl.doubtnut.com/l/_N622Hoz0nyAT


D. precipitating  from solution when performing titration of 

 in alkaline medium

Answer: D

Watch Video Solution

MnO2

KMnO4

10.  is the most important oxide of manganese ,  occurs

natually as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to C. It is used in the

preparation of potassium permanaganate and in the productioon of 

gas. Over half million tonnes per year of  is used in dry batteries. 


Q. When  is fused with KOH in the presence of air, the product

formed is:

A. Purple colour 

B. Green colour 

C. Colourless 

MnO2 MnO2

Mn3O4 530∘

Cl2

MnO2

MnO2

KMnO4

K2MnO4

MnO
−
4

https://dl.doubtnut.com/l/_N622Hoz0nyAT
https://dl.doubtnut.com/l/_CSVQls1clySK


D. None of these

Answer: B

Watch Video Solution

11.  is the most important oxide of manganese ,  occurs

natually as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to C. It is used in the

preparation of potassium permanaganate and in the productioon of 

gas. Over half million tonnes per year of  is used in dry batteries. 


Q.  dissolves in concentrated HCl to form:

A.  ion and 

B.  ion and 

C. 

D. only 

Answer: B

MnO2 MnO2

Mn3O4 530∘

Cl2

MnO2

MnO2

Mn4 + Cl2

Mn2 + Cl2

[MnCl4]2 − and Cl2

[MnCl4]2 −

https://dl.doubtnut.com/l/_CSVQls1clySK
https://dl.doubtnut.com/l/_ajqLXq8nZ5pZ


Watch Video Solution

12.  is the most important oxide of manganese ,  occurs

natually as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to C. It is used in the

preparation of potassium permanaganate and in the productioon of 

gas. Over half million tonnes per year of  is used in dry batteries. 


Q. In which of the following species, the colour is due to charge transfer? 

(I)  (II)  (III)  (IV)

A. I, II, III

B. II, IV

C. I, III

D. only IV

Answer: D

Watch Video Solution

MnO2 MnO2

Mn3O4 530∘

Cl2

MnO2

[Mn(OH)4]
2 −

MnO
2 −
4 MnO4 KMnO4

https://dl.doubtnut.com/l/_ajqLXq8nZ5pZ
https://dl.doubtnut.com/l/_AtXJQtRwefrz
https://dl.doubtnut.com/l/_hubSZrFkXGMh


13. Iron (+II) is one of the most important oxidation states and salts are

called ferrous salts. Most of the  salts are pale green and

contain  ion. Fe(+II) compounds are easily oxidised by air

and so are difficult to obtain pure  form many complexes like 

. 


Q. Anhydrous  is made by :

A. heating Fe with dilute HCl

B. heating Fe with gaseous HCl

C. reacting Fe with conc. HCl

D. heating Fe with  gas

Answer: B

Watch Video Solution

Fe( + II)

[Fe(H2O)2 +
6 □

Fe2 +

K4[Fe(CN)6]

FeCl2

Cl2

14. Iron (+II) is one of the most important oxidation states and salts are

called ferrous salts. Most of the  salts are pale green andFe( + II)

https://dl.doubtnut.com/l/_hubSZrFkXGMh
https://dl.doubtnut.com/l/_Qoa2z2FT7fcE


contain  ion. Fe(+II) compounds are easily oxidised by air

and so are difficult to obtain pure  form many complexes like 

 


Q.  is used in the detection of  ion with which it gives

a deep blue colour. This colour is due to the formation of :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Fe(H2O)2 +
6 □

Fe2 +

K4[Fe(CN)6].

K3[Fe(CN)6] Fe2 +

K2Fe[Fe(CN)6]

Fe4[Fe(CN)6]
3

Fe[Fe(CN)6]

Fe3[Fe(CN)6]
2

15. Iron (+II) is one of the most important oxidation states and salts are

called ferrous salts. Most of the  salts are pale green and

contain  ion. Fe(+II) compounds are easily oxidised by air

and so are difficult to obtain pure  form many complexes like 

Fe( + II)

[Fe(H2O)2 +
6 □

Fe2 +

https://dl.doubtnut.com/l/_Qoa2z2FT7fcE
https://dl.doubtnut.com/l/_Wm9Z7ptSX8NU


 


Q.  is used in the detection of  ion with which it gives

a deep blue colour. This colour is due to the formation of :

A. I, II, III

B. I, III

C. II, III

D. I only

Answer: A

Watch Video Solution

K4[Fe(CN)6].

K3[Fe(CN)6] Fe2 +

16. Iron forms iron halides salts by reacting the metal directly with

halogen.  does not exist.  is white soled inspite of five unpaired

electrons with  configuration .  is soluble in water and is used as

a mordant in dyeing industry. 

Q.  does not exist because:

FeI3 FeF3

d5 FeCl3

FeI3

https://dl.doubtnut.com/l/_Wm9Z7ptSX8NU
https://dl.doubtnut.com/l/_OwEPeUeT4eYu


A. of large size

B.  oxidise  to 

C. of low lattice energy

D. iodine is not highly electronegative enough to oxidise Fe to 

Answer: B

Watch Video Solution

Fe3 + I − I2

Fe3 +

17. Iron forms iron halides salts by reacting the metal directly with

halogen.  does not exist.  is white soled inspite of five unpaired

electrons with  configuration .  is soluble in water and is used as

a mordant in dyeing industry. 

Q.Anhydrous  can be prepared by reaction of:

A. Fe with dry chlorine

B. Fe with dil.HCl in the presence of 

C.  with conc. HCl

FeI3 FeF3

d5 FeCl3

FeCl3

O2

Fe(OH)3

https://dl.doubtnut.com/l/_OwEPeUeT4eYu
https://dl.doubtnut.com/l/_AALrsdFc74gt


D.  with conc. HCl

Answer: A

Watch Video Solution

Fe2O3

18. Iron forms iron halides salts by reacting the metal directly with

halogen.  does not exist.  is white soled inspite of five unpaired

electrons with  configuration .  is soluble in water and is used as

a mordant in dyeing industry. 

Q.  solution added to  gives A while with 

gives B. A and B respectively are:

A. 

B. 

C. 

D. 

Answer: D

FeI3 FeF3

d5 FeCl3

FeCl3 K4[Fe(CN)6] KSCN

Fe3[Fe(CN)6]
2
, Fe(CNS)3

Fe4[Fe(CN)6]
2
, KFe(CNS)3

Fe4[Fe(CN)6]
3
, K3[Fe(CNS)6]

Fe4[Fe(CN)6]
3
, K3[Fe(SCN)6]

https://dl.doubtnut.com/l/_AALrsdFc74gt
https://dl.doubtnut.com/l/_XxYJpJEaE5p9


Watch Video Solution

19. In salts of polyatomic anion, as polarising power of cation increase,

thermal stability of the salt decrease and decomposed species may

further undergo redox reaction 

Q. Which of the followinng species undergoes non-redox thermal

decomposition reaction on heating?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

FeSO4

SnSO4

H2C2O4

Na2HPO4

https://dl.doubtnut.com/l/_XxYJpJEaE5p9
https://dl.doubtnut.com/l/_7EpXucLUsbfx


20. In salts of polyatomic anion, as polarising power of cation increase,

thermal stability of the salt decrease and decomposed species may

further undergo redox reaction 

Q. Water soluble salt(x) was heated into three products A, B and C and B

and C are two different paramagnetic gases. A is red in hot condition,

then salt(x) is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Hg(NO3)2

FeC2O4

ZnSO4

Pb(NO3)2

21. Light green (compound 'A')  


(i)'D' and 'E' are two acidic gas. 

Δ
−−→ white Residue(B)

high

C
Temp.

+ D + E

https://dl.doubtnut.com/l/_RhoFvUNoxNA4
https://dl.doubtnut.com/l/_EbjRK1OrGwiP


(ii) 'D' is passed through  solution to give yellow ppt. 


(iii) 'E' is passed through water first and then  is passed, white

turbidity is obtained. 

(iv) A is water soluble and addition of  in it, yellow ppt. is obtained

but white ppt does not turn into grey on addition of excess solution of 'A'

Q. 'D' and 'E' are respectively.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HgCl2

H2S

HgCl2

SO2 and SO3

SO3 and SO2

SO2 and CO2

CO2 and CO

22. Light green (compound 'A')  


(i)'D' and 'E' are two acidic gas. 

(ii) 'D' is passed through  solution to give yellow ppt. 


Δ
−−→ white Residue(B)

high

C
Temp.

+ D + E

HgCl2

https://dl.doubtnut.com/l/_EbjRK1OrGwiP
https://dl.doubtnut.com/l/_DL4ob1R1cPH5


(iii) 'E' is passed through water first and then  is passed, white

turbidity is obtained. 

(iv) A is water soluble and addition of  in it, yellow ppt. is obtained

but white ppt does not turn into grey on addition of excess solution of 'A'

Q. Yellow ppt in the above observation is :

A. Mercuric oxide

B. Basic mercury(II) sulphite

C. Basic mercury (II) sulphate

D. Mercuric iodine

Answer: C

Watch Video Solution

H2S

HgCl2

23. Light green (compound 'A')  


(i)'D' and 'E' are two acidic gas. 

(ii) 'D' is passed through  solution to give yellow ppt. 


(iii) 'E' is passed through water first and then  is passed, white

Δ
−−→ white Residue(B)

high

C
Temp.

+ D + E

HgCl2

H2S

https://dl.doubtnut.com/l/_DL4ob1R1cPH5
https://dl.doubtnut.com/l/_zy5vWjSno4E5


turbidity is obtained. 

(iv) A is water soluble and addition of  in it, yellow ppt. is obtained

but white ppt does not turn into grey on addition of excess solution of 'A'

Q. 'C' is soluble in :

A. dil. HCl

B. dil.

C. Conc.

D. Boiled conc. HCl

Answer: D

Watch Video Solution

HgCl2

H2SO4

CH3COOH

24. Light green (compound 'A')  


(i)'D' and 'E' are two acidic gas. 

(ii) 'D' is passed through  solution to give yellow ppt. 


(iii) 'E' is passed through water first and then  is passed, white

turbidity is obtained. 

Δ
−−→ white Residue(B)

high

C
Temp.

+ D + E

HgCl2

H2S

https://dl.doubtnut.com/l/_zy5vWjSno4E5
https://dl.doubtnut.com/l/_dhXNoeGlyrNB


(iv) A is water soluble and addition of  in it, yellow ppt. is obtained

but white ppt does not turn into grey on addition of excess solution of 'A'

Q. The no. of water crystallisation in 'A' is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HgCl2

0

2

7

5

25. Transition metal and their compounds are used as catalyst in industry

and in biological system. For example, in the Contact Process, vanadium

compounds in the +5 state  are used to oxidise  to 

: 


 


It is thought thta the actual oxidation process takes place in two stages.

(V2O5 or VO−
3 ) SO2

SO3

SO2 + O2

V2O5

−−→ SO3

1

2

https://dl.doubtnut.com/l/_dhXNoeGlyrNB
https://dl.doubtnut.com/l/_FyyhpnoMkiIq


In the first step,  in the presence of oxide ions converts  to .

At the same time,  is reduced to . 


 


In the second step,  is regenerated from  by oxygen: 

 


The overall process is, of curse, the sum of these two steps: 

 


Q. During the course of the reaction:

A. Catalyst undergoes changes in oxidation state

B. Catalyst increase the rate constant

C. Catalyst is regenerated in its original form when the reactants form

the products

D. All are correct

Answer: D

Watch Video Solution

V 5 + SO2 SO3

V 5 + V 4 +

2V 5 + + O2 − + SO2 → 2V 4 + + SO3

V 5 + V 4 +

2V 4 + + O2 → 2V 5 + + O2 −1

2

SO2 + O2 → SO3

1

2

https://dl.doubtnut.com/l/_FyyhpnoMkiIq
https://dl.doubtnut.com/l/_CejMop9qUpWq


26. Transition metal and their compounds are used as catalyst in industry

and in biological system. For example, in the Contact Process, vanadium

compounds in the +5 state  are used to oxidise  to 

: 


 


It is thought thta the actual oxidation process takes place in two stages.

In the first step,  in the presence of oxide ions converts  to .

At the same time,  is reduced to . 


 


In the second step,  is regenerated from  by oxygen: 

 


The overall process is, of curse, the sum of these two steps: 

 


Q. Catalytic activity in transition metals depends on:

A. Their ability to exist in different oxidation states

B. The size of the metal atoms

C. The number of empty atomic orbitals available

D. None of these

(V2O5 or VO−
3 ) SO2

SO3

SO2 + O2

V2O5

−−→ SO3

1

2

V 5 + SO2 SO3

V 5 + V 4 +

2V 5 + + O2 − + SO2 → 2V 4 + + SO3

V 5 + V 4 +

2V 4 + + O2 → 2V 5 + + O2 −1

2

SO2 + O2 → SO3

1

2

https://dl.doubtnut.com/l/_CejMop9qUpWq


Answer: A

Watch Video Solution

27.  is the most important oxide of manganese ,  occurs

natually as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to C. It is used in the

preparation of potassium permanaganate and in the productioon of 

gas. Over half million tonnes per year of  is used in dry batteries. 


Q. In the laboratory,  is made by:

A. heating Mn in 

B. oxidising  in air

C. electrolytic oxidation of 

D. precipitating  from solution when performing titration of 

 in alkaline medium

Answer: D

MnO2 MnO2

Mn3O4 530∘

Cl2

MnO2

MnO2

O2

Mn2 +

MnSO4

MnO2

KMnO4

https://dl.doubtnut.com/l/_CejMop9qUpWq
https://dl.doubtnut.com/l/_K6ov2dUwZmWS


Watch Video Solution

28.  is the most important oxide of manganese ,  occurs

natually as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to C. It is used in the

preparation of potassium permanaganate and in the productioon of 

gas. Over half million tonnes per year of  is used in dry batteries. 


Q. When  is fused with KOH in the presence of air, the product

formed is:

A. Purple colour 

B. Green colour 

C. Colourless 

D. Purple colour 

Answer: B

Watch Video Solution

MnO2 MnO2

Mn3O4 530∘

Cl2

MnO2

MnO2

KMnO4

K2MnO4

MnO
−
4

KMnO4

https://dl.doubtnut.com/l/_K6ov2dUwZmWS
https://dl.doubtnut.com/l/_2S3t0khFs3Bl
https://dl.doubtnut.com/l/_H43ikfwcebjh


29.  is the most important oxide of manganese ,  occurs

natually as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to C. It is used in the

preparation of potassium permanaganate and in the productioon of 

gas. Over half million tonnes per year of  is used in dry batteries. 


Q.  dissolves in concentrated HCl to form:

A.  ion and 

B.  ion and 

C. 

D. only 

Answer: B

Watch Video Solution

MnO2 MnO2

Mn3O4 530∘

Cl2

MnO2

MnO2

Mn4 + Cl2

Mn2 + Cl2

[MnCl4]2 − and Cl2

[MnCl4]2 −

30.  is the most important oxide of manganese ,  occurs

natually as the black coloured mineral pyrolusite. It is an oxidising agent,

MnO2 MnO2

https://dl.doubtnut.com/l/_H43ikfwcebjh
https://dl.doubtnut.com/l/_EqzFBlToCmQx


and decomposes to  on heating to C. It is used in the

preparation of potassium permanaganate and in the productioon of 

gas. Over half million tonnes per year of  is used in dry batteries. 


Q. In which of the following species, the colour is due to charge transfer? 

(I)  (II)  (III)  (IV)

A. I, II, III

B. II, IV

C. I, III

D. only IV

Answer: D

Watch Video Solution

Mn3O4 530∘

Cl2

MnO2

[Mn(OH)4]
2 −

MnO
2 −
4 MnO4 KMnO4

31. Iron (+II) is one of the most important oxidation states and salts are

called ferrous salts. Most of the  salts are pale green and

contain  ion. Fe(+II) compounds are easily oxidised by air

and so are difficult to obtain pure  form many complexes like 

Fe( + II)

[Fe(H2O)2 +
6 □

Fe2 +

https://dl.doubtnut.com/l/_EqzFBlToCmQx
https://dl.doubtnut.com/l/_CvohjeNOjTmd


. 


Q. Anhydrous  is made by :

A. heating Fe with dilute HCl

B. heating Fe with gaseous HCl

C. reacting Fe with conc. HCl

D. heating Fe with  gas

Answer: B

Watch Video Solution

K4[Fe(CN)6]

FeCl2

Cl2

32. Iron (+II) is one of the most important oxidation states and salts are

called ferrous salts. Most of the  salts are pale green and

contain  ion. Fe(+II) compounds are easily oxidised by air

and so are difficult to obtain pure  form many complexes like 

 


Q.  is used in the detection of  ion with which it gives

a deep blue colour. This colour is due to the formation of :

Fe( + II)

[Fe(H2O)2 +
6 □

Fe2 +

K4[Fe(CN)6].

K3[Fe(CN)6] Fe2 +

https://dl.doubtnut.com/l/_CvohjeNOjTmd
https://dl.doubtnut.com/l/_glRGSMHVfBtR


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K2Fe[Fe(CN)6]

Fe4[Fe(CN)6]
3

Fe[Fe(CN)6]

Fe3[Fe(CN)6]
2

33. Iron (+II) is one of the most important oxidation states and salts are

called ferrous salts. Most of the  salts are pale green and

contain  ion. Fe(+II) compounds are easily oxidised by air

and so are difficult to obtain pure  form many complexes like 

. 


Q.  is used in brown ring test for nitrates and nitrites. In this test, a

freshly prepared  solution is mixed with solution containing 

 and the conc.  is run down the side of the test

tube. It the mixture gets hot or is shaken. 

Fe( + II)

[Fe(H2O)2 +
6 □

Fe2 +

K4[Fe(CN)6]

FeSO4

FeSO4

NO−
2 or NO−

3 H2SO4

https://dl.doubtnut.com/l/_glRGSMHVfBtR
https://dl.doubtnut.com/l/_i1kFnYDYirsf


(I) the brown colour disappear (II)NO is evolved (III) a yellow solution in

 is formed

A. I, II, III

B. I, III

C. II, III

D. I only

Answer: A

Watch Video Solution

Fe2(SO4)3

34. Iron forms iron halides salts by reacting the metal directly with

halogen.  does not exist.  is white soled inspite of five unpaired

electrons with  configuration .  is soluble in water and is used as

a mordant in dyeing industry. 

Q.  does not exist because:

A. of large size

FeI3 FeF3

d5 FeCl3

FeI3

https://dl.doubtnut.com/l/_i1kFnYDYirsf
https://dl.doubtnut.com/l/_s6GcFcPhgyP8


B.  oxidise  to 

C. of low lattice energy

D. iodine is not highly electronegative enough to oxidise Fe to 

Answer: B

Watch Video Solution

Fe3 + I − I2

Fe3 +

35. Iron forms iron halides salts by reacting the metal directly with

halogen.  does not exist.  is white soled inspite of five unpaired

electrons with  configuration .  is soluble in water and is used as

a mordant in dyeing industry. 

Q.Anhydrous  can be prepared by reaction of:

A. Fe with dry chlorine

B. Fe with dil.HCl in the presence of 

C.  with conc. HCl

D.  with conc. HCl

FeI3 FeF3

d5 FeCl3

FeCl3

O2

Fe(OH)3

Fe2O3

https://dl.doubtnut.com/l/_s6GcFcPhgyP8
https://dl.doubtnut.com/l/_TUtL9o3WVMEz


Answer: A

Watch Video Solution

36. Iron forms iron halides salts by reacting the metal directly with

halogen.  does not exist.  is white soled inspite of five unpaired

electrons with  configuration .  is soluble in water and is used as

a mordant in dyeing industry. 

Q.  solution added to  gives A while with 

gives B. A and B respectively are:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

FeI3 FeF3

d5 FeCl3

FeCl3 K4[Fe(CN)6] KSCN

Fe3[Fe(CN)6]
2
, Fe(CNS)3

Fe4[Fe(CN)6]
2
, KFe(CNS)3

Fe4[Fe(CN)6]
3
, K3[Fe(CNS)6]

Fe4[Fe(CN)6]
3
, K3[Fe(SCN)6]

https://dl.doubtnut.com/l/_TUtL9o3WVMEz
https://dl.doubtnut.com/l/_5pTF0KkE87aE


ONE OR MORE ANSWER IS/ARE CORRECT

1. What changes occur when acidified  ion react with 

solution in presence of ether solvent?

A. Orange colour of solution turns blue

B. Oxidation state of Cr-atom decrease

C. Oxidation state of Cr-atom remains constant

D. Orange colour of solution turns green

Answer: A::C

Watch Video Solution

Cr2O
2 −
7 H2O2

2. Mercury is the only metal which is liquid at C. This is due to its:

A. very high ionisation energy

0∘

https://dl.doubtnut.com/l/_5pTF0KkE87aE
https://dl.doubtnut.com/l/_4y2USQXS6O2k
https://dl.doubtnut.com/l/_NP5hTf2CRXAb


B. weak metallic bonds

C. high heat of hydration

D. high heat of sublimation

Answer: A::B

Watch Video Solution

3. An element of 3d-transition series shows two oxidation states x and y,

differing by two units. Then:

A. compounds in oxidation state x are ionic if 

B. compounds in oxidation state x are ionic if 

C. compounds in oxidation state y are covalents if 

D. compounds in oxidation state y are covalents if 

Answer: B::C

Watch Video Solution

x > y

x < y

x < y

x > y

https://dl.doubtnut.com/l/_NP5hTf2CRXAb
https://dl.doubtnut.com/l/_OPPoVnPdxgd9


4. The metal oxide which decomposes on heating, is:

A. ZnO

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

Al2O3

Ag2O

HgO

5. Which of the following acids attack(s) on copper and silver?

A. dilute 

B. dilute 

C. conc. 

D. aqua regia

HNO3

HCl

H2SO4

https://dl.doubtnut.com/l/_OPPoVnPdxgd9
https://dl.doubtnut.com/l/_VDxiGWlLlQf4
https://dl.doubtnut.com/l/_RyY9hsU0JoD8


Answer: A::C::D

Watch Video Solution

6. Which of the following statements are true for Mohr's salt?

A. It decolourizes  solution

B. It is a double salt

C. It is colourless salt

D. It is a primary standard substance

Answer: A::B::D

Watch Video Solution

KMnO4

7. Which of the following statement(s) is/are correct?

A. The Chief ore of zinc is cinnabar

https://dl.doubtnut.com/l/_RyY9hsU0JoD8
https://dl.doubtnut.com/l/_iYjln0KsqyTe
https://dl.doubtnut.com/l/_6unMe9USzyYZ


B. Mac-Arther's process is used to extract silver

C.  is used to remove the unexposed AgBr from the

photographic films

D. Nessler's reagent is complex of zinc in +2 oxidation state

Answer: B::C

Watch Video Solution

Na2S2O3

8. Roasting of copper pyrites is done:

A. to remove moisture and volatile impurities

B. to oxidise free sulphur

C. to decompose pyrites into 

D. to decompose  into blister copper

Answer: A::B::C

Watch Video Solution

Cu2S and FeS

Cu2S

https://dl.doubtnut.com/l/_6unMe9USzyYZ
https://dl.doubtnut.com/l/_zomZL3lfduEO


9. Identify the correct statements:

A. iron belongs to first transition series of the periodic table

B. The purest form of commerical iron is wrought iron

C. Anhydrous ferrous sulphate is called as yellow vitriol

D. Iron is the most aboundant transition metal

Answer: A::B::D

Watch Video Solution

10. Which statements about mercury are correct?

A. Hg is a liquid metal

B. Hg forms two series of salts

C. Hg forms no amalgam with iron and platinum

https://dl.doubtnut.com/l/_zomZL3lfduEO
https://dl.doubtnut.com/l/_fBeQnYfAYQm3
https://dl.doubtnut.com/l/_bKWPUc5AF3Bc


D. Hg does not show variable valency

Answer: A::B::C::D

Watch Video Solution

11. Which statements about corrosive sublimate  are correct?

A. It sublimes on heating

B. It oxidises stannous chloride

C. It is highly poisonous

D. It is prepared by heating mercury in chloride

Answer: A::B::C::D

Watch Video Solution

(HgCl2)

12. Identify the statement which is correct for copper sulphate

https://dl.doubtnut.com/l/_bKWPUc5AF3Bc
https://dl.doubtnut.com/l/_RTpY2dA9BOC0
https://dl.doubtnut.com/l/_lr9i75qiAAfQ


A. It reacts with  and glucose to give 

B. It reacts with KCl to give 

C. It gives CuO on heating in air

D. It reacts with KI to give brown colouration

Answer: A::C::D

Watch Video Solution

NaOH Cu2O

Cu2O

13. To an acidified dichromate solution,, a pinch of  is added and

shaken. What is observed?

A. Blue colour

B. Orange colour changing to green

C. Copious evolution of oxygen

D. Bluish-green precipitate

Answer: A::C

Na2O2

https://dl.doubtnut.com/l/_lr9i75qiAAfQ
https://dl.doubtnut.com/l/_RL1BUBvkrUMg


Watch Video Solution

14. Pick out the correct statement(s):

A.  dissolves in conc.HCl but does not form  ions

B. Decomposition of acidic  is not catalyst by sunlight

C.  is stongly oxidising and stable only in very strong alkali. In

dilute alkali, water or acidic solutions it disproportionates

D.  does not act as oxidising agent in alkaline medium

Answer: A::C

Watch Video Solution

MnO2 Mn4 +

KMnO4

MnO
2 −
4

KMnO4

15. The species that undergoes diproportionation in an alkaline medium

are:

A. Cl4

https://dl.doubtnut.com/l/_RL1BUBvkrUMg
https://dl.doubtnut.com/l/_6G3nJH2ETgi8
https://dl.doubtnut.com/l/_oRxQHESFJTRr


B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

MnO
2 −
4

NO2

ClO
−
4

16. Which of the following statements regarding d block elements are

true?

A. the colour of anhydrous  is blue

B. "spitting of silver" can be prevented by covering the surface of

molten silver with charcoal

C. Iodine liberated in a reaction can ber estimated by titration against

a standard thiosulphate solution

D. Lanthanium is first element of third transition series

CuSO4

https://dl.doubtnut.com/l/_oRxQHESFJTRr
https://dl.doubtnut.com/l/_c9igWlAIsIrh


Answer: B::D

Watch Video Solution

17. Which is/are insoluble in  solution?

A. AgCl

B. AgBr

C. AgI

D. 

Answer: C::D

Watch Video Solution

NH3

Ag2S

18. Order of paramagnetic character among following element is/are"

A. Mn > Fe > Cr

https://dl.doubtnut.com/l/_c9igWlAIsIrh
https://dl.doubtnut.com/l/_OrNCLbBbIUj5
https://dl.doubtnut.com/l/_JJSEL1DwTeU9


B. 

C. 

D. 

Answer: C::D

Watch Video Solution

Fe > Zn > Cr

Cr > Fe > Zn

Cr > Mn > Fe

19. Choose correct statements (s) regarding the following reactions. 

A.  is oxidising agent

B.  is reducing agent

C. The oxidation number of per 'S' atom in  is increase by two

D. The oxidation number of per 'Cr' atom in  is decrease by

two

Answer: A::B::C::

Cr2O
2 −
7 (aq) + 3SO2 −

3 (aq) + 8H + → 2Cr3 + (aq) + 3SO2 −
4 (aq) + 4H2O

Cr2O
2 −
7

SO2 −
3

2SO2 −
3

Cr2O
2 −
7

https://dl.doubtnut.com/l/_JJSEL1DwTeU9
https://dl.doubtnut.com/l/_fzwrDQ0SI1rR


Watch Video Solution

20. Mercuric chloride is converted into mercury by:

A. placing copper metal in aqueous solution of 

B. treating aqueous solution of  with excess of stannous

chloride

C. treating aqueous solution  with  solution

D. None of these

Answer: A::B

Watch Video Solution

HgCl2

HgCl2

HgCl2 PbCl2

21. What changes occur when acidified  ion react with 

solution in presence of ether solvent?

A. Orange colour of solution turns blue

Cr2O
2 −
7 H2O2

https://dl.doubtnut.com/l/_fzwrDQ0SI1rR
https://dl.doubtnut.com/l/_SyNNw5rfvSZH
https://dl.doubtnut.com/l/_TBaw5mLmppTV


B. Oxidation state of Cr-atom decrease

C. Oxidation state of Cr-atom remains constant

D. Orange colour of solution turns green

Answer: A::C

Watch Video Solution

22. Choose correct statement(s) regarding the following reaction: 

A.  is oxidising agent

B.  is reducing agent

C. The oxidation number of per 'S' atom in  is increase by two

D. The oxidation number of per 'Cr' atom in  is decrease by

two

Answer: A::B::C::D

Cr2O
2 −
7 (aq) + 3SO2 −

3 (aq) + 8H + → 2Cr3 + (aq) + 3SO2 −
4 (aq) + 4H2O

Cr2O
2 −
7

SO2 −
3

2SO2 −
3

Cr2O
2 −
7

https://dl.doubtnut.com/l/_TBaw5mLmppTV
https://dl.doubtnut.com/l/_565k3Rtn9BXz


Watch Video Solution

23. What changes occur when acidified  ion react with 

solution in presence of ether solvent?

A. Orange colour of solution turns blue

B. Oxidation state of Cr-atom decrease

C. Oxidation state of Cr-atom remains constant

D. Orange colour of solution turns green

Answer: A::C

Watch Video Solution

Cr2O
2 −
7 H2O2

24. Mercury is a liquid metal because

A. very high ionisation energy

B. weak metallic bonds

https://dl.doubtnut.com/l/_565k3Rtn9BXz
https://dl.doubtnut.com/l/_W4vm3zPYnKpQ
https://dl.doubtnut.com/l/_IM7EXDzbE5fn


C. high heat of hydration

D. high heat of sublimation

Answer: A::B

Watch Video Solution

25. An element of 3d-transition series two oxidation states x and y, differ

by two units then:

A. compounds in oxidation state x are ionic if 

B. compounds in oxidation state x are ionic if 

C. compounds in oxidation state y are covalents if 

D. compounds in oxidation state y are covalents if 

Answer: B::C

Watch Video Solution

x > y

x < y

x < y

x > y

https://dl.doubtnut.com/l/_IM7EXDzbE5fn
https://dl.doubtnut.com/l/_W1Xr2IaQTvwC
https://dl.doubtnut.com/l/_Oc0heXBF3wZN


26. The metal oxide which decomposes on heating is/are:

A. ZnO

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

Al2O3

Ag2O

HgO

27. Which of the following acids attack(s) on copper and silver?

A. dilute 

B. dilute 

C. conc. 

D. aqura regia

HNO3

HCl

H2SO4

https://dl.doubtnut.com/l/_Oc0heXBF3wZN
https://dl.doubtnut.com/l/_HBjtTgiIAwPi


Answer: A::C::D

Watch Video Solution

28. Which of the following statements are true for Mohr's salt?

A. It decolourizes  solution

B. It is a double salt

C. It is colourless salt

D. It is a primary standard substance

Answer: A::B::D

Watch Video Solution

KMnO4

29. Which of the following statement(s) is/are correct?

A. The Chief ore of zinc is cinnabar

https://dl.doubtnut.com/l/_HBjtTgiIAwPi
https://dl.doubtnut.com/l/_0ZfOhzbhXrmz
https://dl.doubtnut.com/l/_vfghzMJ5ielN


B. Mac-Arther's process is used to extract silver

C.  is used to remove the unexposed AgBr from the

photographic films

D. Nessler's reagent is complex of zinc in +2 oxidation state

Answer: B::C

Watch Video Solution

Na2S2O3

30. Roasting of copper pyrites is done:

A. to remove moisture and volatile impurities

B. to oxidise free sulphur

C. to decompose pyrites into 

D. to decompose  into blister copper

Answer: A::B::C

Watch Video Solution

Cu2S and FeS

Cu2S

https://dl.doubtnut.com/l/_vfghzMJ5ielN
https://dl.doubtnut.com/l/_SxG2tUIjrVXz


31. Identify the correct statements:

A. iron belongs to first transition series of the periodic table

B. The purest form of commerical iron is wrought iron

C. Anhydrous ferrous sulphate is called as yellow vitriol

D. Iron is the most aboundant transition metal

Answer: A::B::D

Watch Video Solution

32. Which statements about mercury are correct?

A. Hg is a liquid metal

B. Hg forms two series of salts

C. Hg forms no amalgam with iron and platinum

https://dl.doubtnut.com/l/_SxG2tUIjrVXz
https://dl.doubtnut.com/l/_kTjOwQEUBvmI
https://dl.doubtnut.com/l/_SeyB9mEEdCiz


D. Hg does not show variable valency

Answer: A::B::C::D

Watch Video Solution

33. Which statements about corrosive sublimate  are correct?

A. It sublimes on heating

B. It oxidises stannous chloride

C. It is highly poisonous

D. It is prepared by heating mercury in chloride

Answer: A::B::C::D

Watch Video Solution

(HgCl2)

34. Which statements are correct regarding copper sulphate?

https://dl.doubtnut.com/l/_SeyB9mEEdCiz
https://dl.doubtnut.com/l/_U4YVyBGrNNis
https://dl.doubtnut.com/l/_AACunDgVbwbC


A. It reacts with  and glucose to give 

B. It reacts with KCl to give 

C. It gives CuO on heating in air

D. It reacts with KI to give brown colouration

Answer: A::C::D

Watch Video Solution

NaOH Cu2O

Cu2O

35. To an acidified dichromate solution,, a pinch of  is added and

shaken. What is observed?

A. Blue colour

B. Orange colour changing to green

C. Copious evolution of oxygen

D. Bluish-green precipitate

Answer: A::C

Na2O2

https://dl.doubtnut.com/l/_AACunDgVbwbC
https://dl.doubtnut.com/l/_0GLodXDlCzO6


Watch Video Solution

36. Pick out the correct statement(s):

A.  dissolves in conc.HCl but does not form  ions

B. Decomposition of acidic  is not catalyst by sunlight

C.  is stongly oxidising and stable only in very strong alkali. In

dilute alkali, water or acidic solutions it disproportionates

D.  does not act as oxidising agent in alkaline medium

Answer: A::C

Watch Video Solution

MnO2 Mn4 +

KMnO4

MnO
2 −
4

KMnO4

37. The species that undergoes diproportionation in an alkaline medium

are:

A. Cl2

https://dl.doubtnut.com/l/_0GLodXDlCzO6
https://dl.doubtnut.com/l/_Ol8y5SwMngsM
https://dl.doubtnut.com/l/_bZDkdSmWhTBQ


B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

MnO
2 −
4

NO2

ClO
−
4

38. Which of the following statements regarding copper salts are true?

A. the colour of anhydrous  is blue

B. "splitting of silver" can be prevented by covering the surface of

molten silver with charcoal

C. Iodine liberated in a reaction can ber estimated by titration against

a standard thiosulphate solution

D. Lanthanium is first electron of third transition series

Answer: A::B::D

CuSO4

https://dl.doubtnut.com/l/_bZDkdSmWhTBQ
https://dl.doubtnut.com/l/_lYgIB7ynbG4f


Watch Video Solution

39. Which is/are insoluble in  solution?

A. AgCl

B. AgBr

C. AgI

D. 

Answer: C::D

Watch Video Solution

NH3

Ag2S

40. Order of paramagnetic character among following elements is/are:

A. 

B. 

C. 

Mn > Fe > Cr

Fe > Zn > Cr

Cr > Fe > Zn

https://dl.doubtnut.com/l/_lYgIB7ynbG4f
https://dl.doubtnut.com/l/_u5hmWSqsOVqy
https://dl.doubtnut.com/l/_pcuFdMHBTEB9


D. 

Answer: C::D

Watch Video Solution

Cr > Mn > Fe

41. Choose correct statement(s) regarding the following reaction: 

A.  is oxidising agent

B.  is reducing agent

C. The oxidation number of per 'S' atom in  is increase by two

D. The oxidation number of per 'Cr' atom in  is decrease by

two

Answer: A::B::C::D

Watch Video Solution

Cr2O
2 −
7 (aq) + 3SO2 −

3 (aq) + 8H + → 2Cr3 + (aq) + 3SO2 −
4 (aq) + 4H2O

Cr2O
2 −
7

SO2 −
3

2SO2 −
3

Cr2O
2 −
7

https://dl.doubtnut.com/l/_pcuFdMHBTEB9
https://dl.doubtnut.com/l/_RbueFtPUkvCe
https://dl.doubtnut.com/l/_jPm9rzQ9SEJ5


42. Mercuric chloride is converted into mercury by:

A. placing copper metal in aqueous solution of 

B. treating aqueous solution of  with excess of stannous

chloride

C. treating aqueous solution  with  solution

D. None of these

Answer: A::B

Watch Video Solution

HgCl2

HgCl2

HgCl2 PbCl2

43. What changes occur when acidified  ion react with 

solution in presence of ether solvent?

A. Orange colour of solution turns blue

B. Oxidation state of Cr-atom decrease

C. Oxidation state of Cr-atom remains constant

CrO
2 −
4 H2O2

https://dl.doubtnut.com/l/_jPm9rzQ9SEJ5
https://dl.doubtnut.com/l/_pYI2v2yn4ah8


D. Orange colour of solution turns green

Answer: A::B

Watch Video Solution

44. Choose correct statement(s) regarding the following reaction: 

A.  is oxidising agent

B.  is reducing agent

C. The oxidation number of per 'S' atom in  is increase by two

D. The oxidation number of per 'Cr' atom in  is decrease by

two

Answer: A::B::C::D

Watch Video Solution

Cr2O
2 −
7 (aq) + 3SO2 −

3 (aq) + 8H + → 2Cr3 + (aq) + 3SO2 −
4 (aq) + 4H2O

Cr2O
2 −
7

SO2 −
3

2SO2 −
3

Cr2O
2 −
7

https://dl.doubtnut.com/l/_pYI2v2yn4ah8
https://dl.doubtnut.com/l/_rmpzKEOMiBYl


MATCH THE COLUMN

1. Entries of Column-I are to be matched with entries of Coloumn-II. Each

entry of Column-I may have the matching with one or more than one

entries of Column-II. 

Watch Video Solution

2. Entries of Column-I are to be matched with entries of Coloumn-II. Each

entry of Column-I may have the matching with one or more than one

entries of Column-II. 

https://dl.doubtnut.com/l/_9VTsqpeZJ2GV
https://dl.doubtnut.com/l/_jrzfXR8jN3YM


ASSERTION-REASON TYPE QUESTIONS

Watch Video Solution

3. Entries of Column-I are to be matched with entries of Coloumn-II. Each

entry of Column-I may have the matching with one or more than one

entries of Column-II. 

Watch Video Solution

1. Assertion: Melting point of Mn is more than that of Fe. 

Reason : Mn has higher number of unpaired  than Fe in atomic state.e2

https://dl.doubtnut.com/l/_jrzfXR8jN3YM
https://dl.doubtnut.com/l/_23om86Z6dwP6
https://dl.doubtnut.com/l/_okrlAHhRo2c6


A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

Watch Video Solution

2.  has less stable nature than  but  is more

stable than . 


Half-filled and completely filled, sub-shell are more stable.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

Cu+
( aq . )

Cu2 +
( aq . )

Fe3 +
( aq . )

Fe2 +
( aq . )

https://dl.doubtnut.com/l/_okrlAHhRo2c6
https://dl.doubtnut.com/l/_8Sgx0DBvA1ZD


B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

Watch Video Solution

3. Assertion: Zn gives  gas with dil. HCl and also with dil. . 


Reason : In different medium, change in oxidation number shown by

mangnese is altogether different.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

H2 H2SO4

https://dl.doubtnut.com/l/_8Sgx0DBvA1ZD
https://dl.doubtnut.com/l/_QOSUCV3bBmLK


D. If assertion is true but the reason is false

Answer: B

Watch Video Solution

4. Assertion:  has different equivalent wieghts in acid, neutral or

alkaline medium. 

Reason: In different, change in oxidation number shown by maganese is

altogether different.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

KMnO4

https://dl.doubtnut.com/l/_QOSUCV3bBmLK
https://dl.doubtnut.com/l/_UNN0rruuRgrk


Answer: A

Watch Video Solution

5. Assertion:  is more stable than  


Reason: Electrode potential is more important in determining stable

oxidation state than electronic configuration.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

Cu2 + Cu+

https://dl.doubtnut.com/l/_UNN0rruuRgrk
https://dl.doubtnut.com/l/_PLpYwrqA6psc


6. Statement 1  Concentrated solution of  in water is yellow in

colour. 

Statement  The concentrated solution contains  ion and 

 ion.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

: CuCl2

2: [CuCl4]2 −

[Cu(H2O4]2 +

https://dl.doubtnut.com/l/_DdvQW4Vo6g1G


7. Assertion:  is purple in colour due to charge transfer . 


Reason :There is no electron present in d-orbitals of maganese in

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

Watch Video Solution

KMnO4

MnO
−
4 )

8. Assertion :  reacts with HCl to form chromyl chloride gas 


Reason : Chromyl chloride  has tetrahedral shape.

CrO3

(CrO2Cl2)

https://dl.doubtnut.com/l/_zvxAWBWQQWim
https://dl.doubtnut.com/l/_jY8hfhTljTzb


A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

Watch Video Solution

9. Mercury is the only metal which is liquid at C. This is due to its:

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

0∘

https://dl.doubtnut.com/l/_jY8hfhTljTzb
https://dl.doubtnut.com/l/_yV00JMX1tQhw


C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

10. Assertion:  are blue and green

colour compounds respectively. 

Reason: Both compounds have their specific colour due to phenomenon

of polarisation of anion.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

CuSO4 ⋅ 5H2O and FeSO4 ⋅ 7H2O

https://dl.doubtnut.com/l/_yV00JMX1tQhw
https://dl.doubtnut.com/l/_I5jzocDUPcn0


Answer: C

Watch Video Solution

11. Assertion:  undergoes intramolecular redox

reaction on thermal decomposition 

Reason: Both salts give brown solid of  after decomposition.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

Watch Video Solution

FeSO4 and Fe2(SO4)3

Fe2O3

https://dl.doubtnut.com/l/_I5jzocDUPcn0
https://dl.doubtnut.com/l/_JwRJqJPXat1H


12. Assertion:  is dissolved in both  and NaOH solution

Reason- NaOH and  being basic can dissolve amphoteric 

.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

Watch Video Solution

Zn(OH)2 NH4OH

NH4OH

Zn(OH)2

13. Assertion: Increasing order of covalent character among given

compounds is  
HgCl2 < CdCl2 < ZnCl2

https://dl.doubtnut.com/l/_Hm7a0zw2MmCw
https://dl.doubtnut.com/l/_YcYuL9CmR5nu


Reason: Order of size of cations is  .

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

Watch Video Solution

Zn2 + < Cd2 + < Hg2 +

14. Assertion:  reacts with  to form white ppt. of AgCN. This

white ppt. Disappears when excess KCN is added. 

Reason: AgCN decomposes to form silver-carbide and evolve  gas.

AgNO3 KCN

N2

https://dl.doubtnut.com/l/_YcYuL9CmR5nu
https://dl.doubtnut.com/l/_aJzEObyA7dsc


A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

Watch Video Solution

15. Assertion: Zero and negative oxidation state of d-block metal ion are

not possible in their complex compound. 

Reason: Low oxidation state of the metal ions are found when a complex

compound has ligands capable of aceptor character in addition to

the  bonding.

π −

σ −

https://dl.doubtnut.com/l/_aJzEObyA7dsc
https://dl.doubtnut.com/l/_YLrWrCPYhr2g


A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

16. Assertion: Aquated copper(I) cation undergoes disproportionation as: 

 


Reason: Hydration energy of  is higher than that of  which

compensates second ionisation energy of Cu.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

2Cu+ (aq) → Cu2 + (aq) + Cu

Cu2 + Cu+

https://dl.doubtnut.com/l/_YLrWrCPYhr2g
https://dl.doubtnut.com/l/_MwABgKrNQ990


B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

17. Assertion: Melting point of Mn is more than that of Fe. 

Reason : Mn has higher number of unpaired  than Fe in atomic state.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

e2

https://dl.doubtnut.com/l/_MwABgKrNQ990
https://dl.doubtnut.com/l/_qOvIpkuJpuqW


D. If assertion is true but the reason is false

Answer: D

Watch Video Solution

18. Assertion: (aq) is less than (aq) but  is more stable

than (aq) 


Reason : Half filled and completely filled subshells are more stable

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

Cu2 + Cu3 + Fe3 +

Fe2 +

https://dl.doubtnut.com/l/_qOvIpkuJpuqW
https://dl.doubtnut.com/l/_21oMIbwlZ453


Watch Video Solution

19. Assertion: Zn gives  gas with dil. HCl and dil.  but not with 

. 


Reason :  ion is reduced in preference to hydronium ion.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

Watch Video Solution

H2 H2SO4

HNO3

NO−
3

https://dl.doubtnut.com/l/_21oMIbwlZ453
https://dl.doubtnut.com/l/_ksr9GR2NB43F


20. Assertion:  has different equivalent wieghts in acid, neutral

or alkaline medium. 

Reason: In different, change in oxidation number shown by maganese is

altogether different.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_mG8ySIKPWQYc


21. Assertion:  is more stable than  


Reason: Electrode potential is more important in determining stable

oxidation state than electronic configuration.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

Cu2 + Cu+

22. Assertion: Concentrated aqueous solution of  is green in

colour. 

CuCl2

https://dl.doubtnut.com/l/_TFDohjO1vNT5
https://dl.doubtnut.com/l/_jFsm0Ad3hg1v


Reason : The solution contains two complex ions i.e.,

 in equilibrium.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

[Cu(H2O)4]
2 +

and [CuCl4]2 −

23. Assertion:  is purple in colour due to charge transfer . 


Reason :There is no electron present in d-orbitals of maganese in

KMnO4

MnO
−
4 )

https://dl.doubtnut.com/l/_jFsm0Ad3hg1v
https://dl.doubtnut.com/l/_tsaqXYJlrNIO


A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

Watch Video Solution

24. Assertion:  reacts with HCl to form chromyl chloride gas. 


Reason: Chromyl chloride  has tetrahedral shape.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

CrO3

(CrO2Cl2)

https://dl.doubtnut.com/l/_tsaqXYJlrNIO
https://dl.doubtnut.com/l/_4yEFToqLGcwr


B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

Watch Video Solution

25. Assertion: Hg is the only metal which is liquid at . 


Reason: It has very I.P. and weak metallic bond.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

0∘C

https://dl.doubtnut.com/l/_4yEFToqLGcwr
https://dl.doubtnut.com/l/_VWZMNYyAaGj8


D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

26. Assertion:  are blue and green

colour compounds respectively. 

Reason: Both compounds have their specific colour due to phenomenon

of polarisation of anion.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

CuSO4 ⋅ 5H2O and FeSO4 ⋅ 7H2O

https://dl.doubtnut.com/l/_VWZMNYyAaGj8
https://dl.doubtnut.com/l/_PZXhd1WjwVna


Answer: C

Watch Video Solution

27. Assertion:  undergoes intramolecular redox

reaction on thermal decomposition 

Reason: Both salts give brown solid of  after decomposition.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

Watch Video Solution

FeSO4 and Fe2(SO4)3

Fe2O3

https://dl.doubtnut.com/l/_PZXhd1WjwVna
https://dl.doubtnut.com/l/_2dQEokyOI9XF


28. Assertion:  is dissolved in both  and NaOH solution

Reason- NaOH and  being basic can dissolve amphoteric 

.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

Watch Video Solution

Zn(OH)2 NH4OH

NH4OH

Zn(OH)2

29. Assertion: Increasing order of covalent character among given

compounds is  
HgCl2 < CdCl2 < ZnCl2

https://dl.doubtnut.com/l/_Wdh7YY0HEVnN
https://dl.doubtnut.com/l/_xeHqk6n6nF9k


Reason: Order of size of cations is  .

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

Watch Video Solution

Zn2 + < Cd2 + < Hg2 +

30. Assertion:  reacts with  to form white ppt. of AgCN. This

white ppt. Disappears when excess KCN is added. 

Reason: AgCN decomposes to form silver-carbide and evolve  gas.

AgNO3 KCN

N2

https://dl.doubtnut.com/l/_xeHqk6n6nF9k
https://dl.doubtnut.com/l/_V4hxLMsSlVn0


A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

Watch Video Solution

31. Assertion: Zero and negative oxidation state of d-block metal ion are

not possible in their complex compound. 

Reason: Low oxidation state of the metal ions are found when a complex

compound has ligands capable of aceptor character in addition to

the  bonding.

π −

σ −

https://dl.doubtnut.com/l/_V4hxLMsSlVn0
https://dl.doubtnut.com/l/_FIO6zyhARGjC


A. If both assertion and reason are true and the reason is the correct

explanation of assertion

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

View Text Solution

32. Assertion: Aquated copper(I) cation undergoes disproportionation as: 

 


Reason: Hydration energy of  is higher than that of  which

compensates second ionisation energy of Cu.

A. If both assertion and reason are true and the reason is the correct

explanation of assertion

2Cu+ (aq) → Cu2 + (aq) + Cu

Cu2 + Cu+

https://dl.doubtnut.com/l/_FIO6zyhARGjC
https://dl.doubtnut.com/l/_7rssGWbwH8Uz


SUBJECTIVE PROBLEMS

B. If both assertion and reason are true and the reason is not the

correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

Watch Video Solution

1. Calculate the magnetic moment of a high-spin octahedral complex that

has six electrons in 3d-orbitals

Watch Video Solution

2. How many -bonds are presennt in ferrocene?

h id l i

π

https://dl.doubtnut.com/l/_7rssGWbwH8Uz
https://dl.doubtnut.com/l/_1ukNsCWgabX8
https://dl.doubtnut.com/l/_ghq4QUmkjVLn


Watch Video Solution

3. The magnetic moment of a transition metal ion is 3.87BM. The number

of unpaired electrons present in it is

Watch Video Solution

4. Calculate the magnetic moment of a high-spin octahedral complex that

has six electrons in 3d-orbitals

Watch Video Solution

5. How many  bonds are present in ferrocene?

Watch Video Solution

π −

6. The magnetic moment of a transition metal ion is found to be 3.87

Bohr Magneton (BM). The number of unpaired electrons present in it is:

https://dl.doubtnut.com/l/_ghq4QUmkjVLn
https://dl.doubtnut.com/l/_TD5mtJpSFy5U
https://dl.doubtnut.com/l/_ZYKjsHsNSOSe
https://dl.doubtnut.com/l/_1ZJdwZke4eIV
https://dl.doubtnut.com/l/_KZTEnkpAYoPf


Watch Video Solution

https://dl.doubtnut.com/l/_KZTEnkpAYoPf

